BATE B A We Focus On Your Applications

Al EERKF RN A

SHENZHEN AIBO TECHNOLOGY CO.,LTD

1T B 3t HE #l
PLANETARY REDUCER

R TEHERELFRAA

SHENZHEN AIBO TECHNOLOGY CO.,LTD

ik RINTELUREHKEHREZEHN I I KE R ECHE
Ei%E: 86-0755-26785810

f£H . 86-0755-26786070

i 8 : market@aibotech.net

BR%: 518055

M1k : http://www.aibotech.net
EERMSHEIE: 400580028 (KAAHE )




ompany profile
NG

RHEERXERATMILT20055F , B—HREWA. EF-IHEERMHREAS. SHKNEHRR. BERE
MR RA—ANEHRAEL. BEEE TISOI001LREMHRIAIL.

ABLGIFAES , HRHTIMENEREAR , FRETERESVENRS. BERENRIIFR 755 "B
BB BIFES" RITERE.

HRHEFRRERADEEURRLEN , AEEBMBRSIHZWHARKAR  BEERNARARDRNTEHEL. KA
AZ . EAREFRIAATRESHEEOBEMHN, 2FTLUREFRZFHIFER  ARAUESHEE. SREBER
.

BRIARS MBI ZMNATEE . 8%, R, fmINI. SR, BiEgR. SFE Tl TECRTEEH
ZiRE. BENRIRE. PEY. SEN. 2RI, IWWHF. Bz, BFEE. DESSEKENRE. KA
g8, NOKRBIRE. RIEEBMUENREDR  IEFFREHTERIE,

BAVERE "WSE. B, Tl H=" PhlEH |, BsoEst. BTEE  FERATA. £ HESRSKX
I, CEBEREITIERE RS R,

Shenzhen Aibo Technology Co., Ltd was established in 2005, we are focus on smart guiding system, intelligent tension
system, precision reducer as one of the high-tech enterprises. All the process follow the ISO9001 quality system.

With innovative ideas, we made patented technology, developed the smart coil control system, precision reducer series
products, and got the government innovation fund.

We have a professional R & D team and invited high level skilled engineer from Japan to join us. Our components was

offered by Japanese enterprise, the high precision parts supply make our quality to stay a high level. We can offer high
precision, high quality precision gear, reducer and other precision transmission parts according to the needs of different
customers.

Our products has been widely used in the industry of lithium battery, packaging, printing, paper products processing,
textile, rubber, the tire cord, etc.; mainly used in machine precision CNC equipment, packaging and printing equipment, cutting
machine, bending machine, warp knitting machine, robot, manipulator, vending, balance of electric cars, the satellite signal
receiving transmission equipment, solar energy, wind power equipment, and precision automatic transmission equipment, for
the customer to provide a reliable guarantee.

We will be adhering to the "honesty, hard work, professional, sharing” the spirit of enterprise, pragmatic progressive
and innovative, constantly enhance the research and development, production, sales and service, make Aibo technology the
international famous brand.

BEE /A PIESER
FEREN DA &S
REGE N R SR ENERTE (5% ) 01-06

PHFZ%I/PHNZSI/PHRES

PHFZRFIF= G4

PHF £2/TUERSMURTE /PHF MEREATIESER

PHNE/SURSMUR T E/PHN MEAEIE S 07-20
PHR & /SERSMUR T/ PHR MEBEMIEHEE

PSF&RZ%I/PSRZFI/PSNARF

PSFERFI F= R4

PSFE/SNERHMNEY R JEl/PSF MEBERIAS H R

PSREE/XUERHMNEI R ~F /PSR HEEERIIS R 20 3 4
PSNE/SERSME R T B/ PSNIEBEMIIS LR -

PHZERSIF= RS

PHZE8/IMERSME R < E/PHZ HEAENTIS 5

PSZE/ME DB PSZ HAEIEE

PHAZRSF=RiF=

PHAY/IERSNE R T E 35-50
PHA MAEHIIEEEE- 1/PHA HAEHIIE -2

IR mESR

WERE. BEEDA% NABES. BHTEE GHMEEE KR, ATME
kR B 2251

kR - 4251

1TERIEH SRR E M5 A 51-54
TR AE A IS




ech ech

IH

:|J = r——\
= 'ULIZ.M )
CODING SYSTEM gpﬁgﬁﬂﬁ

FILLIN DATA OF MOTOR

Fl’ I|-| I|: 060 5
RFITERIEN LR VST AASEERN SRR~ IRERLL
HAEE RIS FAEE= 042:01042 .
SHERBENRLEN REFEIE= 060:1060 x -
N:EF &= 090:-1090 345678310 - %
ZEmE 115:0115 XS : =
(REB ST 5) 142:71142 1215202530, =Rl s
A:ABLEE FREH 180:(1180 35,40,45,50,60, E
(VRIBGERA ) 220:01220 70,2;0:100 Motor S
' - - - g - o)
120~1000 A GRhe )
Motor Brand: I L
BAES:
Motor Model : —
D
%_F
C
DX 5EETEE A CONNECTION OF MOTOR GEARHEAD
‘ ‘ HESPECIFICATIONS
N RS WE g P
Ring clamp AJ34 INPUT-SHAFT frEREH PLANETARY GEARHEAD) Motor Motor Fl P.C.D Motor |Actual Length
RIS EER LSRRI , FTERERE Shaft F'S!‘ge Shaft H a.ng:ﬁ of l?)qre Flange of Backlash
AAR—HmE RtER , BHAATRAINI. . ia. eig 1a.
Not the same At the customers/_\request,we may special Dia. Length Bore Square Motor Shaft
as Ma Dazhou process the connection hole where the

With the sleeve

brackt joins the motor
is not the same

OiRmIMR | DRMBIME | DXKE | DIANSEE | BP0 | B2 ER | DXERY | DIAHERK | EXEEEBE
WL, E. \DMSDXEEESS  BEESTENRENGS |, LB LG RIBET A SEEA, DA (h6) | OB (h7) ¢ D ok

Clip ring, shaft sleeve, the shaft are stably combined with the motor, please be careful with the planetary reducer
with internal structure, in order to prevent injury and reducer.

aF LH L Po/P1/P2

FEIEBENERRET  ARBH B9~ mIRE—5820,000/0\ef , LISEEIET 9.

Under normal usage and loading,our products come with a one-year or 20,000-hour limited warranty,whichever comes first.

FRAEFTEARENEESETRENNIT , RESHERABREFEEERE | REKERMISBENMEFSEX 1%
R, E5EH.

Our production of planetary reducer is under the exclusive matching processing, ensuring long service life

and the backlash precision, we have won the domestic and foreign well-known precision machinery or
Semiconductor manufacturers choose, trustworthy.

www.aibotech.net

www.aibotech.net A



®

ech

[ TERIEN SA R =B

Planetary Gearbox with Motor Mounting Instructions }

For General Type

<
HEDR SRR < ZREER
Fig.

Check the motor and gear box
size.Clean the mounting surface.

STHRASIARE SIS 2B ER |

2

B Es ENXELET | #
HEIXIRK , BRSBTS
=LA,

Take off the plug from the
bracket. Revolve the set collar
until the bow is aligned with
the hole.

3
BRI,

Remove the key from the shaft.
Mounting the balance key if
necessary.

ENTEiA LIRSTHIRE , SARE

.
5

4
EDXMORY |, #H/OKIE
FAESHE.

Make sure the motor shaft size.
Choose the appropriate sleeue
if necessany.

HERAFHR , XEEERE
PO, EEIRRIRES
THEEES.

As installing on flatted shaft, be
sure to align the collet gap over

the flat and the set collar bolt
perpendicular to the flat.

)
$/

17)

5

LURZZiH DR (3=—) BiGHED
BRI5% , fKER1Z=AIr 158822
BEgE,

Tighten the mounting in 1~4
order with torque wrench to
5%specified torque.(See Table 1)

6

BOIASHENEIZER , SR
#AHFRE)ENZHNE , UL
HIIRFIGRIET AR PR,

Tighten the set collar bolt with
toeque wrench to specified
torque.(See Table 2)

7

LUgeeiR s (3=—) @izl
HE , KER1ZEAIR , SR
FRIRLHA,

Tighten the mounting in1~4
order with torque wrench to
specified torque.(See Table 1)

www.aibotech.net

~
- 3
1

8
BinNE LAk m.

Put the plug back on the
adapter plate.

[ 1TERIET/ DA%

EYRHHRER)

ech

Table of Tightening Torque for Planetary Reducer/Motor(Reference)}

43,%_3 5%1&25@%&%@%?573@&% Table 1 of tightening torque recommended for motor mounting bolt.

A | EEsems BEL0084 | EE129EM
gury| K, | ZHEED D et
Screw size head size screw locking torque screw locking torque screw tightening torque

mm N-m In-Ibs N-m In-Ibs N-m In-Ibs
M3*0.5P 25 13 12 18 16 21 19
M4*0.7P 3 3 27 4.1 37 4.9 44
M5*0.8P 4 6.1 55 8.2 73 9.8 87
M6*1.0P 5 11 98 14 124 17 151
M8*1.25P 6 25 222 34 302 41 364
M10*1.5P 8 49 434 67 594 80 709
M12*1.75P 10 85 753 116 1028 139 1232
M14+*2.0P 12 137 1214 186 1648 223 1976
M16*2.0P 14 210 1860 286 2534 343 3038

%E_ IEHjJEEH%J\' H%@%Tﬂﬂﬁ_&?& Table 2 of tightening torque recommended for set collar bolt.

s kiR | BERT NALRY BEHD
I)ﬂi@*ﬂ:ﬂ%“ﬁﬂ) The motor *}rﬁﬁ Six hexagon Tightening torque
Reducer type (cases) shaft diameter Screw size head size
mm mm N-m In-Ibs
PSZ42/PSF42/PSR50/PSN50 ‘ <8 M3*0.5P 25 21 19
PHZ42/PHF42/PHR50/PHN50 ‘ <8 M3*0.5P 25 21 19
PSZ60/PSF60/PSR70/PSN70 ‘ <14 M4*0.7P 3 4.9 44
PHZ60/PHF60/PHR70/PHN70 ‘ <14 M4*0.7P 3 4.9 44
PSZ90/PSF90/PSR90/PSN90 ‘ <24 M6*1.0P 5 9.8 87
PHZ90/PHF90/PHR90/PHN90 ‘ <24 M6*1.0P 5 9.8 87
PSZ115/PSF115/PSR120/PSN120 ‘ <28 M8*1.25P 6 25 222
PHZ115/PHF115/PHR120/PHN120 ‘ <28 M8*1.25P 6 25 222
PSZ142/PSF142/PSR142/PSN155 ‘ <35 M10*1.5P 8 49 434
PHZ142/PHF142/PHR142/PHN155 ‘ <35 M10*1.5P 8 49 434
PSF180/PSR180/PSN205 ‘ <50 M12*1.75P 10 85 753
PHF180/PHR180/PHN205 ‘ <50 M12*1.75P 10 85 753
PSF220/PSR220/PSN235 ‘ <55 M14*2.0P 12 137 1214
PHF220/PHR220/PHN235 ‘ <55 M14*2.0P 12 137 1214

EL  REEEHNIAT BME. FELEN , JLUSEIERHNSEIN LAEIERI20%, LIBRITIE.

Notel:Holding torques must be bigger than values shown aboves.Bolts can be tightened up to 20% higher for increased holding.

www.aibotech.net [INE



A

ech ech

Selection method of
speed reducer (Reference)

RPLPER L (SF )

N How to choose the correct type of reducer 1l.i= m
‘ W IERESE RN B S ‘ 1li= N . Nrs ‘
Nrs Nn:Motor rated speed (the rated speed input)[rpm]

‘ IR R B RS ‘

N:EEHEER HEEER (RN IRAIEERRE) [rpm]
N3 i SERRRT AR 22 AYEEIR [rpm]

On the basis of the use of cycle
determine fs

Nrs:The output end of the actual needs of the speed[rpm]

Calculation of gear ratio i P Tr3xNr3
THEREEL 3N= Gccho
_ri’%JiELtbl . TrsxNis _ - ] . - 9550xn
Pan= ———— etermine the output end actually needed torque K
R BT [Nm] & 9550xn Ta [Nm] (customets) And the output to the Tr3:The output end of the actual needs of the torque [Nm]

i HiRAT R SEbRLENs [rpm] (BFIEE)

‘ THEEHIRPTRINEEPN  (HEE) ‘

ERRATIREY, P < Pu

BEZENIHAIEEHRET N [Nm] ‘
HERHIRATIIHAETN [Nm] GHE{E)

Tra g HIRSEPRFr R E2AYHH%E [Nm])
N8 IR SEPREEER [rpm]
N:RIERAAETRER [%]
Pan:iaHimSCRRATERRYINER [KW]
Pn:EBH U HHRYREIDER  [KW]

. Ton=Tanxixn

Calculation of output required
power value P (calculated)

Select large NG

power motor Pan < Pn

Check the input rated torque Tw(Nm)
Calculate the average torque Tan(Nm)

Nr3:The output end of the needs of the actual speed [rpm]

N:Reducer transmission efficiency [%]
Psn:The power output of actual required [KW]
Pn:Rated output power of the motor [KW]

. Tan=Tanxixn

T2n:The output end of the average torque [Nm]

TonAa b imHE  [Nm] Select larger | NG Tinv:Input rated torque (rated output torque motor) [Nm]
BEFBEAREN Tin N imEUEHAR (FRAEE R HTHE) [Nm] reducer - n:Reducer operating efficiency [%]

‘ BB Tms [Nm] ‘

N:RIENIEEEREE [%]
TNRIRERE R HTHRE [Nm]

. TZmaszmeifoxr]

The maximum output
torque for motorTms [Nm]

Maximum acceleration calculation
of torque outputTzmax [Nm]

Tn:Rated output torque of reducer [Nm]

. TZmax=Tme | XfSX r]

fs:Load factor

RS s (N] | fo-tnEREEY T——
REREE (fs) Select larger NG The type StEaVI’(t:‘iLy htci)nLi:es The daily running time (h)
CERREAREN NG e | SNSRI FEE(TANE (h) reducer of load 2 h<4 | 4<h<8[8<h<12[12<h<16[16<h<24
z h<4 4<h<8 [8<h<12[12<h<16/16 <h <24 Z<10 0.85 0.95 1.00 1.20 1.60
S _ 7<10 0.85 0.95 1.00 1.20 1.60 Determine the emergency stop torqueTznot [Nm] Uniform 10<Z<30 0.90 110 115 140 180
REERELEAET 200t [NM] I Tanot According to the actual use condition (customers) load
Tonot {REBSERREFIOR (B2F3R1H) YR 10<Z<30 0.90 1.10 1.15 1.40 1.80 30<Z<100 1.00 1.20 1.30 1.60 2.00
30<Z<100 1.00 1.20 1.30 1.60 2.00 Z<10 1.00 1.20 1.30 1.60 2.00
7<1 1. 12 1. . 2, Select larger NG Secondary
- NG N <1 ‘ ‘ <10 00 0 30 1.60 00 reducer T < Tovor load 10<Z<30 1.10 1.35 145 1.80 2.20
2not 2nor hEERE 10<Z<30 1.10 135 145 1.80 2.20 30<Z<100 1.20 145 1.60 2.00 240
30<Z<100 1.20 1.45 1.60 2.00 240 Z<10 1.20 145 1.60 2.00 240
R R S RIEEN Z<10 1.20 145 160 200 240 Check the rated speed Nnand maximum speed Nmax of the motor Heavy 10<Z<30 1.30 155 175 520 260
‘ oy HACEN L ERAES IERAFIAR] Tmax ‘ - - - - - Check rated input speed Nuv and maximum input speed load - : - - -
HEH AR AR N v SR AN LR Nimax WmEE | 10<Z<30 1.30 155 175 2.20 2,60 Numax Of the reducer 30<Z<100 | 1.40 1.65 1.90 2.40 2.80
30<Z<100 1.40 1.65 1.90 240 2.80 . .
BRI AEBAF NG Ny < N e N Select a smaller | g Ny < N TmaMaximum acceleration torque output of the[Nm]
SR INRRELY Tomax B R IRAY R AIMEIASE[NM] Ratio i in Large ) 3
PRI NI Nimas. < Miman motor Mimax < M Tme:The maximum output torque of motor[Nm]

‘ OSSN (rpm] ‘

T EAAYER AT HFHAR[NmM]
Tos @ A AIERANMEHE[NmM]

Rated speed Calculate the
rated output speed Nan

T2z : maximum acceleration torque of educer[Nm]

. T2not:Emergency stop torque output to the desired [Nm]

5. TenotfiIHIRFAFR AV R SYSLEIHRE [Nm]
LSRRI NG e e . Selecta smaller | ¢ .
s Touo RN ATRERE A R AS LIS [Nn) e s TrorEmergency stop torque reducer can bear [Nl
: e : . . . NmaxThe maximum speed of the motor [rpm]
| T AR R A 6. NmacEEHLAYERAREER [rpm] | Determine the output has o bear radial nu:Rated input speed of the reducer [rpm]
Nn:EREAVEERANERE [rpm] Th ; ' .
R B AR LT P ‘ Nimax IR AT SIFAIR KBANERIR [rpm] ‘ Determined by the Radial Fam and Axial loads Fzum nlmaX-To fihrgar)élcrlrsjlé?r a[rovn\rl]e]zd input speed
I Fam [N] (BFIRHY) on output shaft of the speed reducer (customers) P
NG Fam < Fis v 7. Nan= m Select large NG Fam < Fars - . Nan= m

p— i i

NongHIRRYEREREIER [rpm] N2n:Rated speed output [rpm]
N N ‘ Check related each installation ‘ .
‘ BRI R Rl ‘ 8. Form: iR AY) i - SCPRASZ AR A package size selection . F2m:Radial force of the output shaft of the reducer actual bear

‘ PR TRAEE R A ‘

www.aibotech.net

Faam:iRIERATL A8 L5 _ESCRRAZ AYSAIE 0

Fors: IRIERATLAO ) A FTEE A AMZE
Foas:RLEEA LA 40 _ERTREAZ AR

XE i HiR SEA i ERS T RGET S S

Select the required backlash
and shift option

Model selection

F.am:The axial force of the output shaft of the reducer actual bear
Fare:Radial force of the output shaft of the reducer can bear
Fzas:Axial force on output shaft of the reducer can bear

XThe output end and the input end is relative to the input

and output speed reducer

www.aibotech.net



®

ech

~PHF&E% F= RS R
PHF SERIES FEATURES

TEBRERNE MR —AE . HRIEHEK
REMBAKEIE , ATAESEXHERMREND
HEEmAREEEN.

Planetary arm bracket and output shaft are one-piece
constructed, setting bearing apart for larger span to
reach the largest reverse rigid and contribute high
axis radial load capacity.

HAOMERE A E EL R 0.2um. Sl
ERRREERRFEN RS EHRE . Risk
EEHM  EKERSS.

Grinding process Ra 0.2um to smooth surface of
output shaft, and with oil-seal to minimum friction
coefficient and reducing start up load; result in the
best seal-abilily and extended lifespan.

AR RASTEREE , BFESRRE—
HRRIERT , BEAAXR=ZMRBEENINTI.,
EEEREE, slHh WEESER.
SCHTRBRERELE  i1E  MEE , &S
ERHRIGET A EK,

RD use exclusively the lattest high-tech materials.
The gear box and internal gear are one-piece
Constiucted,and then processed with Mitsubishi
Japan gear shaper machinary for high-precision,
high torque and abrade consumption.

Advanced electroless nickel surface treatment,
scratch resistance, corrosion resistance, are the
most suitable for strict requirements of the high-tech
equipment.

www.aibotech.net

W RIEASRESN  MEETSBRRER
WIBERERERE . FREREEEROSPIE

FEIHBMAENT , LRESRENEE. &
i EFE R ST .

Alloy steel gear with unique vacuum carburizing
and heat treatment for the best surface hardness
and inner core tenacity.Additionally,with gear
grinding processing to get the best accuracy high
wear resistance and high impact toughness.

PHFRZIR BRI AR IR , RABHERAGE
K30%LAE | HHRBIEAIRLT  IEERED.
BFEARDEBSEENBA , KESAHEDEL.
BEARRITREVELMNT  #EHREE
B, BYE. ZETR. BRERKEHM
1T EIRIE.

PHF series helical gear design, enhance tooth
engagement rate of 30% or more,special helix
design, which reduces the axial thrust, allowing
high speed servo motor input, maximum torque
output. Precision gear design and professional
gear processing create a low backlash operation,
high efficiency, smooth running, low noise and
long life of the planetary gear.

ITERREHFRERAR A LUAZIR XS
HEDFMRNERELE RSN R IR
Interface of planetary gear transmission are equpped with a
needle bearing, in order to achieve the maximum
output torque and the minimum gap tolerance,
improve the structure of steel and rotational stability.

FREASNREHARERDZSHFREBRE , RERESEEA.

ech

' KIRRIRIAEEEANTITEREER , BiK
PSR , LIRREN TR O ERIEE
The sun pinion front bearing is directly arranged in the
fixed frame the whole planet,Mechanical structure
design, in order to ensure the concentric drive element
and the operation stability.

KASHFNERERFGERR , BiaRin

| Higit , EEABEE  TEABE. RIP65
PEIFSERITIIRIT , TR, KARRS.

High-tech oil seal design on the upper lip guard
against dust intruder, lower lip to guard against oil
leak. Protection grade Ip65 safeguards fully avoid
leaking problam, and given it maintenance-free.

BANHSSIXNDEESERARERNG |,

YERAZIDFEDH , BERSEET  E5F
HROERFBENIEE.

Input-end and motor shaft are combined through a
dynamic balanced collar clamping to ensure connection
interface concentricity and zero slip power transmission
at high speed.

SEHEDRERERRT  RARHE XTS5 . U
S5EMITEZAR. SHEIATEEBRES.
Advanced motor connecting plate design are combined
with the shaft sleeve, installation Easily, with various
brands of servo or stepper motor.

Products due to human error, natural disasters or other factors lead to poor or damaged,will not be covered under warranty.

www.aibotech.net INE



ech

[1G7

®

#H& ( Specifications )

Cs

2

D3 hé
il
‘aD4 &6

L10

: Unit : mm

R Dimensions| PHF42 PHF60 PHF90 | PHF115 | PHF142 | PHF180 | PHF220
D1 50 70 100 130 | 165 215 250 |
D2 34 5.5 6.5 85 | 105 13 17
D3he 13 16 22 32 | 40 55 75 |
D4gs 35 50 80 110 | 130 160 180
D5 15 25 35 45 50 70 20 |
D6 M4x0.7P | M5x0.8P | M8x1.25P |M12x1.75P M16x2.0P | M20x2.5P | M20x2.5P
D7 56 80 118 148 | 186 239 292 |
L1 4256 60 90 115 | 142 182 220
L2 26 37 48 62 | 93 104.5 138 |
L3 5.5 7 10 8 | 8 20 30
L4 15 15 15 3 | 6 2.5 3 |
L5 15 25 32 40 | 60 70 90
L6 2 2 3 5 \ 5 6 7 |
L7 4 6 8 12 | 18 16 20
L8 28.3 36 46 59 | 79 87.5 1175 |
L9 4 4 45 6 | 6 8 7
L10 14 16.5 205 30 | 38 48 42 |
L11 9.5 11 14.5 21 | 17 25.5 27.8
L12 15 20 25 30 | 35 35 40 |
c1? 46 70 90 115 | 145 200 235
c2? M4x0.7P | M5x0.8P | M6x1.0P | M8x1.25P | M8x1.25P |M12x1.75P | M12x1.75P|
Cc32 <8 <14 <19/<24 | <24/<28 | <35 <50 <55
c4? 27 37 47 58 | 66 82 98 |
C5%s 30 50 70 95 | 110 1143 200
c6? 4 4 6 10 | 6 13 12|
c7? 42,6 60 90 115 | 140 182 220
c8? 385 46 55 63 | 80 95 130 |
c9? 92.8 119 149 184 | 252 287 385.5
B 5 5 6 10 | 12 16 20 |
H 15 18 24.5 35 [ 43 59 79.5

C9

L8

L2

L

gr=——=yr}

R ——Ty P

Ls

==
L1o

A& ( Specifications ) : Unit : mm

Rt Dimensions| PHF42 PHF60 PHF90 | PHF115 | PHF142 | PHF180 | PHF220
D1 50 70 100 130 165 215 250 |
D2 34 5.5 6.5 8.5 10.5 13 17
D3he 13 16 22 32 40 55 75 |
D4gs 35 50 80 110 130 160 180
D5 15 25 35 45 50 70 0 |
D6 M4x0.7P | M5x0.8P [ M8x1.25P [M12x1.75P| M16x2.0P | M20x2.5P  M20x2.5P
D7 56 80 118 148 186 239 292 |
L1 42.6 60 90 115 142 182 220
L2 26 37 48 62 93 104.5 138 |
L3 5.5 7 10 8 8 20 30
L4 15 15 15 3 6 2.5 3 \
L5 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7 |
L7 4 6 8 12 18 16 20
L8 54.3 64 86 107 140 177.5 232 |
L9 4 4 45 6 6 8 7
L10 14 16.5 20.5 30 38 48 2 |
L11 9.5 11 145 21 17 25.5 27.8
L12 15 20 25 30 35 35 40 |
c1? 46 70 90 115 145 200 235
c2? M4x0.7P | M5x0.8P | M6x1.0P | M8x1.25P | M8x1.25P |M12x1.75P| M12x1.75P|
C32 <8 <14 <19/<24 <24/<28 <35 <50 <55
c4? 27 37 47 58 66 82 98 |
C5%s 30 50 70 95 110 114.3 200
c6? 4 4 6 10 6 13 12 |
c7? 426 60 90 115 140 182 220
cg? 385 46 55 63 80 95 130 |
c9’ 118.8 147 189 232 313 377 500
B 5 5 6 10 12 16 20 |
H 15 18 245 35 43 59 79.5

XC1 ~ CORNBINMERINIEZIRR T | IEKETERRSDIARE
XAANEERE L SRS TR REARLATER -

www.aibotech.net

XC1 ~C9 are motor specitc dimensions(metric std shown).
Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

XC1 ~ CORNBIREDINERIRR T | ERATERNSDIARE -

XARNTEIEI LA LSRR TR AT TR -

XC1 ~C9 are motor specitc dimensions(metric std shown).
Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

www.aibotech.net



®

ech

PHF tEEEfIt&ILER Specifications Table

#I4& Specifications 7@%%5 PHF-42 | PHF-60 | PHF-90 |PHF-115|PHF-142|PHF-180|PHF-220
3 19 53 145 290 520 950 1550
4 20 55 150 300 550 1000 1650
5 17 54 140 290 530 1050 1700
1 6 15 46 135 280 490 1000 1600
7 14 44 125 270 450 960 1500
8 12 41 110 240 390 900 1350
9 " 37 95 220 360 800 1250
10 gk 37 95 220 360 800 1250
SE%(G ']Fﬁg%gt PHF-42 | PHF-60 | PHF-90 | PHF-115| PHF-142 | PHF-180 | PHF-220
= 15 19 53 145 290 520 950 1550
N g.mf‘ﬁgﬂjmﬁﬁ N-m 20 | 20 55 | 150 | 300 | 550 | 1000 | 1650
ominal Output Torque 25 17 54 140 | 290 | 530 | 1050 | 1700
30 17 54 140 290 530 1050 1700
35 17 54 140 290 530 1050 1700
40 17 54 140 290 530 1050 1700
2 45 17 54 140 290 530 1050 1700
50 17 54 140 290 530 1050 1700
60 15 46 135 280 490 1000 1600
70 14 44 125 270 450 960 1500
80 12 41 110 240 390 900 1350
90 " 37 95 220 360 800 1250
100 1" 37 95 220 360 800 1250
2Z5E Tanor N- 3.0/ZEEm 0% (3.0 times of Nominal Output Torque)
Emergency Stop Torque m (*BXHEiH /I Max.Output Torque T=60% of Emergency Stop Torque)
Norﬁﬁgﬂﬁ}fﬁ?&ed rpm | 1.2 |3-100 | 5000 | 5000 | 4000 | 4000 | 3000 | 3000 | 2000
Ei,\ﬁi?ﬁ}ﬁl?sggmga rpm | 1.2 | 3-100 | 10000 | 10000 | 8000 | 8000 | 6000 | 6000 | 4000
BYE A A . 1 3-10 = =2 =2 =1 = = =1
Ultraprecise Backlash Po arcmin 2 12-100] = =4 =4 =3 = = =3
R aremin— 1 3-10 = =4 =4 =3 = = =3
Precise Backlash P: 2 12-100] = =6 =6 =5 = = =5
TrESE : 1 310 | = =6 =6 =5 = = =5
Standard Backlash P,  [3T¢MIN—H5 145400 = =8 =8 =7 = = =7
HEEN N.
Torsionam%idity Jarcminl 1.2 | 3-100 | 25 6 12 23 45 75 | 130
@ﬁliﬁaﬁg?ajl I;_Z(;Bad N 1.2 3-100 515 1010 1780 3420 5380 8330 11120
VETHHET P N | 1.2 |3-100| 410 | 600 | 1500 | 2650 | 4670 | 6460 | 8560
{EFEE Operating Temp.| °C 3-100 -10°C~+90°C
{EA% s Service Life hr 3-100 20,000(10,000/5%%4E15%% Continuous operation)
[TER = T | 3-10 =97%
Efficiency ° 2 [12-100 =94%
\NEE k 1 3-10 0.6 [ 1.3 | 3.5 | 7.8 16.1 | 27 58
e'?"t 9 2 12-100] 09 | 20 | 56 | 95 | 19 | 34 | 65
[Z%J5AE Mounting Position | - 1.2 | 3-100 =75 E Any direction
@IEE{E Noise Level dBA/Im| 1.2 3-100 56 | 58 [ 60 | 63 [ 65 | 67 | 70
|_B5#PZEZR Protection Class - 1.2 | 3-100 Ip65
SEE Lubrication - 1.2 | 3-100 & EB;HAE Synthetic Lubricant
RN EEEE Inertia (J1)
524 Stage HIELE Ratio B{7 unit| PHF-42 | PHF-60 | PHF-90 |PHF-115|PHF-142 | PHF-180 | PHF-220
3 0.03 0.23 0.97 2.35 10.00 30.50 79.50
4 0.02 0.18 0.67 1.66 7.17 25.86 58.21
1 5 0.02 0.17 0.65 1.50 6.52 23.63 54.36
6/7/8 0.02 0.14 0.60 1.45 6.17 22.92 54.12
9/10 kg.cm® 0.02 0.14 0.58 141 6.10 22.73 53.98
T Stage JRIEEE Ratio PHF-42 | PHF-60 PHF-90 | PHF-115 PHF-142 | PHF-180 | PHF-220
15/20/25 0.02 0.17 0.65 0.65 1.50 6.52 23.63
2 30/35/40 0.02 0.14 0.60 0.60 1.45 6.17 22.92
45/50/70/80/90/100 0.02 0.14 0.58 0.58 141 6.10 22.73
O HEEEL00rpmET , fERT @ T OB Applied to the output shaft center@100rpm. @3000rmpz#;EillMeasured at 3000rpm with no load.
XANT ARSI SRR TIRITEEARSGEH. The above figures/specifications are subject to change without prior notice.

FREANFESRREFRESHARTGIA , MEREFCEA.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net

ech

www.aibotech.net INEE



®

ech

Co

0oc7

B

Ls

e

aG3

L3 L4
=
»
Vo — = g
] e
=N =
Ls Le

B et i

Ly T

PHN XXEZFMUYRJE PHN Double Stage Dimensions

Cg

Cs Lg L L2
L11 153 L4
= -
\
A F ] 1] _ a2
<= _@—J =2
| |
Ce
‘} G4 L5 Lé i
2 8| =t
=1 =
| '
g Lo
L1o

Mg ( Specifications ) : Unit : mm

R< Dimensions. PHN50 | PHN70 | PHN90 | PHN120 | PHN155 | PHN205 | PHN235
D1 44 62 80 108 140 184 210 |
D2 M4x0.7P | M5x0.8P | M6x1.0P | M8x1.25P | M8x1.25P |M12x1.75P| M16x2.0P
D3ne 13 16 22 32 40 55 75 |
D4g6 35 52 68 90 120 160 180
D5 15 25 35 45 50 70 0 |
D6 M4x0.7P | M5x0.8P | M8x1.25P |[M12x1.75P| M16x2.0P | M20x2.5P | M20x2.5P
D7 50 70 94 120 155 205 235 |
L2 24.5 35 48 60 93 99.5 126
L3 4 5 10 6 8 15 18 |
L4 15 15 15 3 6 25 3
L5 15 25 32 40 60 70 0 |
L6 2 2 3 5 5 6 7
L7 8 10 10 15 18 21 32 |
L8 30 38 46 61 79 92.5 129.5
L9 4 4 4.5 6 6 8 7 \
L10 14 16.5 20.5 30 38 48 42
L11 9.6 11 135 21 17 25.5 278 |
L12 15 20 25 30 35 35 40
cr’ 46 70 90 115 145 200 235 |
C2? M4x0.7P | M5x0.8P | M6x1.0P | M8x125P | M8x1.25P M12x1.75P|M12x1.75P
C3? <8 <14 <19/=24 | <24/<28 <35 <50 <55 |
c4? 27 35 43 58 66 82 98
C5Fe 30 50 70 95 110 114.3 200 |
C6? 4 5 5 8 6 13 12
c7? 50 70 94 120 140 182 220
c8? 34 44 50 63 80 95 130
C9? 88.5 117 144 184 252 287 3855 |
B 5 5 6 10 12 16 20
H 15 18 24.5 35 43 59 795 )

M ( Specifications ) : Unit : mm

Dimendions | PHN50 PHN70 PHN90 PHN120 PHN155 PHN205 | PHN235
D1 44 62 80 108 140 184 210
D2 M4x0.7P | M5x0.8P | M6x1.0P | M8x1.25P| M8x1.25P | M12x1.75P | M16x2.0P

D3 13 16 22 32 40 55 75
D46 35 52 68 90 120 160 180
D5 15 25 35 45 50 70 90

D6 M4x0.7P | M5x0.8P | M8x1.25P | M12x1.75P | M16x2.0P | M20x2.5P | M20x2.5P
D7 50 70 94 120 155 205 235
L2 24.5 35 48 60 93 99.5 126
L3 4 5 10 6 8 15 18
L4 15 1.5 15 3 6 25 3
L5 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7
L7 8 10 10 15 18 21 32
L8 56 66 86 109 140 1825 244
L9 4 4 4.5 6 6 8 7
L10 14 16.5 20.5 30 38 48 42
L11 9.6 11 135 21 17 25.5 27.8
L12 15 20 25 30 35 35 40
C1? 46 70 90 115 145 200 235
c2? M4x0.7P | M5x0.8P | M6x1.0P | M8x1.25P | M8x1.25P | M12x1.75P | M12x1.75P
c3? <8 =14 <19/<24 <24/<28 <35 <50 <55
c4? 27 35 43 58 66 82 98
C5%¢ 30 50 70 95 110 114.3 200
C6? 4 5 5 8 6 13 12
c7? 50 70 94 120 140 182 220
C8? 34 44 50 63 80 95 130
C9? 1145 145 184 232 313 377 500
B 5 5 6 10 12 16 20
H 15 18 24.5 35 43 59 79.5

XC1 ~ CORNBIMNEDIRIEZRR T | IBIRETEMNDIERE -
XAREEREIA LIRS TR R ERATEA -

www.aibotech.net

XC1 ~ C9 are motor specitc dimensions(metric std shown).
Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

XC1 ~ CORNBIMNEDIRIEZIRR T | ISRFTEMANDIERE -
XERTEREHIA SRS TR R BRI TEA -

XC1 ~ C9 are motor specitc dimensions(metric std shown).
Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

www.aibotech.net



®

ech

PHN MEEAIIEILER Specifications Table

ot TE | RELy : : : : : : i
##& Specifications Stage | ‘Roaicy | PHN-50 | PHN-70 | PHN-90 |PHN-120 PHN-155|PHN 205|PHN-235
3 19 53 145 290 520 950 1550
4 20 55 150 300 550 1000 1650
5 17 54 140 290 530 1050 1700
1 6 15 46 135 280 490 1000 1600
7 14 44 125 270 450 960 1500
8 12 41 110 240 390 900 1350
9 11 37 95 220 360 800 1250
10 11 37 95 220 360 800 1250
S1tjage 'ﬁﬁ%b PHN-50 | PHN-70 | PHN-90 |PHN-120|PHN-155/PHN-205|PHN-235
N 15 19 53 145 290 520 950 1550
N gﬁfﬁiﬂéﬂjmﬁp“ N-m 20 | 20 | 55 | 150 | 300 | 550 | 1000 | 1650
ominal Output Torque 25 17 54 140 | 290 | 530 | 1050 | 1700
30 17 54 140 290 530 1050 1700
35 17 54 140 290 530 1050 1700
40 17 54 140 290 530 1050 1700
2 45 17 54 140 290 530 1050 1700
50 17 54 140 290 530 1050 1700
60 15 46 135 280 490 1000 1600
70 14 44 125 270 450 960 1500
80 12 41 110 240 390 900 1350
90 11 37 95 220 360 800 1250
100 11 37 95 220 360 800 1250
2Z=5E Tanor N- 3.0/ZErEmE 0% (3.0 times of Nominal Output Torque)
Emergency Stop Torque m (*BXHiH I Max.Output Torque T=60% of Emergency Stop Torque)
Nor%ﬁgaﬁl)l?l%ﬁ?g‘eed rpm 1.2 3-100 | 5000 5000 4000 4000 3000 3000 2000
Eﬁhﬁ%}ﬁ%@gga rpm | 1.2 | 3-100 | 10000 | 10000 | 8000 | 8000 | 6000 | 6000 | 4000
BYER A A . 1 3-10 = =2 =2 =1 =1 = =
Ultraprecise Backlash Po arcmin 2 12-100] = =4 =4 =3 =3 = =
R arcminl—1 3-10 = =4 =4 =3 =3 = =
Precise Backlash P: 2 12-100] = =6 =6 =5 =5 = =
eSS - 1 3-10 = =6 =6 =5 =5 = =
Standard Backlash P,  [3T¢MIN—H5 145400 = =8 =8 =7 =7 = =
THEEN N-m
TorsionaﬁR‘%idity Jarcmin| 1-2 | 3-100 2.5 6 12 23 45 75 130
®@lx¢,§a@£| I;_Zgad N 1.2 3-100 515 1010 1780 3420 5380 8330 11120
OB THET P N | 1.2 |3-100| 410 | 600 | 1500 | 2650 | 4670 | 6460 | 8560
{EFEE Operating Temp.| °C 3-100 -10°C~+90°C
A5 Service Life hr 3-100 20,000(10,000/3%45=4 Continuous operation)
BE o/ 1] 3-10 =97%
Efficiency ° 2 [12-100 =94%
\NEE k 1 3-10 0.6 [ 1.3 | 3.5 | 7.8 16.1 | 27 | 58
el?ht 9 2 12-100] 09 | 20 | 56 | 95 19 | 34 | 65
Z5H Mounting Position| - 1.2 | 3-100 E=75 1 Any direction
@IEE{E Noise Level dBA/Im| 1.2 3-100 56 [ 58 | 60 | 63 65 [ 67 [ 70
F53PZE2R Protection Class - 1.2 [ 3-100 Ip65
’E@i8 Lubrication - 1.2 [ 3-100 £ & BE:a:mAs Synthetic Lubricant
RN EEER Inertia (J1)
%4 Stage IHIELL Ratio By unit| PHN-50| PHN-70| PHN-90 |PHN-120 PHN-155| PHN-205| PHN-235
3 0.03 0.23 0.97 2.35 10.00 30.50 79.50
4 0.02 0.18 0.67 1.66 7.17 25.86 58.21
1 5 0.02 0.17 0.65 1.50 6.52 23.63 54.36
6/7/8 0.02 0.14 0.60 1.45 6.17 22.92 54.12
9/10 kg.cm 0.02 0.14 0.58 141 6.10 22.73 53.98
2% Stage JIEEE Ratio PHN-50| PHN-70 | PHN-90 |PHN-120| PHN-155 | PHN-205 | PHN-235
15/20/25 0.02 0.17 0.65 0.65 1.50 6.52 23.63
2 30/35/40 0.02 0.14 0.60 0.60 1.45 6.17 22.92
45/50/70/80/90/100 0.02 0.14 0.58 0.58 141 6.10 22.73
OiHEEE100rpmAT , YEFRTF SR /MIE Applied to the output shaft center@100rpm. @3000rmpzs#;&EillMeasured at 3000rpm with no load.
XANTERI U SRS TR E ARG EH., The above figures/specifications are subject to change without prior notice.

FREANFRESRRERRSEARSGRIA , TMEREEEN.

Products due to human error;, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net

ech

www.aibotech.net INEE



ech

aGs Fo

Ce

/

#FE ( Specifications )

Cs _ Ls =)

L1 T L7 I3

1 . La
| = c
| o — ¥ — e
SJ\L I =tal2
— - 28l

- Unit : mm

ac7

R Dimensions| PHR50 PHR70 PHR90 | PHR120 | PHR142 | PHR180 | PHR220
D1 50 70 100 130 165 215 250 |
D2 34 6 6.5 8.5 10.5 13 17
D3hs 13 16 22 32 40 55 75 ]
D4gs 35 50 80 110 130 160 180
D5 15 25 35 45 50 70 20 |
D6 M4x0.7P | M5x0.8P | M8x1.25P | M12x1.75P| M16x2.0P | M20x2.5P | M20x2.5P
D7 64 90 120 152 186 239 292 |
L1 50 70 94 120 142 182 220
L2 24.5 37 43 60 93 104.5 138 |
L3 4 7 5 6 8 20 30
L4 15 15 15 3 6 25 3 |
L5 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7 \
L7 5 6 10 12 18 16 20
L8 30 36 51 61 79 87.5 1175 |
L9 4 4 45 6 6 8 7
L10 14 16.5 20.5 30 38 48 42 |
L11 9.6 11 13.5 21 17 25.5 27.8
L12 15 20 25 30 35 35 40 |
c1? 46 70 90 115 145 200 235
c2? M4x0.7P | M5x0.8P | M6x1.0P | M8x1.25P | M8x1.25P |M12x1.75P | M12x1.75P|
Cc3? <8 <14 <19/<24 <24/<28 <35 <50 <55
c4’ 27 35 43 58 66 82 98 |
C5%s 30 50 70 95 110 114.3 200
C6? 4 5 5 8 6 13 12 |
c7? 50 70 94 120 140 182 220
cs? 34 44 50 63 80 95 130 |
c9? 88.5 117 144 184 252 287 385.5
B 5 5 6 10 12 16 20 |
H 15 18 245 35 43 59 79.5

XC1 ~ CORNBIMNEDIRIEZRR T | IBRETERNDIERE -

XAREEREIA LIRS TR R ERATEA -

www.aibotech.net

XC1 ~ C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

PHR XXEz7MYR~JE PHR Double Stage Dimensions

Co

Cs

Ls

T ’|‘ K] s
L4
P o
8 g 0 EIe
y Ls Lé
* 8| >
= "
Ly
Lio
MtE ( Specifications ) : Unit : mm
Dm{eﬁgons PHR50 PHR70 PHR90 PHR120 PHR142 PHR180 PHR220
D1 50 70 100 130 165 215 250
D2 34 6 6.5 8.5 10.5 13 17
D3ne 13 16 22 32 40 55 75
D446 35 50 80 110 130 160 180
D5 15 25 35 45 50 70 90
D6 M4x0.7P M5x0.8P M8x1.25P | M12x1.75P | M16x2.0P | M20x2.5P | M20x2.5P
D7 64 90 120 152 186 239 292
L1 50 70 94 120 142 182 220
L2 245 37 43 60 93 104.5 138
L3 4 7 5 6 8 20 30
L4 1.5 1.5 15 3 6 25 3
L5 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7
L7 4 6 10 12 18 16 20
L8 56 64 91 109 140 177.5 232
L9 4 4 4.5 6 6 8 7
L10 14 16.5 20.5 30 38 48 42
L11 9.6 11 13.5 21 17 255 27.8
L12 15 20 25 30 35 35 40
C12 46 70 90 115 145 200 235
Cc2? M4x0.7P M5x0.8P M6x1.0P M8x1.25P | M8x1.25P | M12x1.75P | M12x1.75P
C32 <8 <14 <19/<24 <24/<28 <35 <50 =55
C4? 27 35 43 58 66 82 98
C5%s 30 50 70 95 110 114.3 200
C6? 4 5 5 8 6 13 12
C7? 50 70 94 120 140 182 220
C8? 34 44 50 63 80 95 130
C9? 1145 145 184 232 313 377 500
B 5 5 6 10 12 16 20
H 15 18 245 35 43 59 79.5

XC1 ~ CORNBIMMEDIXIERRR T |, ISIRATEMAIDIERE -

XAAEERE LA EBIEAMS TR EE ARG

{Ey=—yi1

¥C1 ~ C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

www.aibotech.net




ech

PHR4$g8ERIFEILER Specifications Table

ificati T | EEL ) ) ) ) ) ) ;
g Specifications Stage | Ratio PHR-50 | PHR-70 | PHR-90 |PHR-120|PHR-142|PHR-180(PHR-220
3 19 53 145 290 520 950 1550
4 20 55 150 300 550 1000 1650
5 17 54 140 290 530 1050 1700
1 6 15 46 135 280 490 1000 1600
7 14 44 125 270 450 960 1500
8 12 41 110 240 390 900 1350
9 11 37 95 220 360 800 1250
10 11 37 95 220 360 800 1250
SPa%ﬁe J&‘Zﬁﬁi%b PHR-50 | PHR-70 | PHR-90 | PHR-120 | PHR-142 | PHR-180 | PHR-220
R 15 19 58] 145 290 520 950 1550
RIS T N-m 20 20 55 150 300 550 | 1000 | 1650
Nominal Output Torque 25 17 54 140 | 290 530 | 1050 | 1700
30 17 54 140 290 530 1050 1700
35 17 54 140 290 530 1050 1700
40 17 54 140 290 530 1050 1700
2 45 17 54 140 290 530 1050 1700
50 17 54 140 290 530 1050 1700
60 15 46 135 280 490 1000 1600
70 14 44 125 270 450 960 1500
80 12 41 110 240 390 900 1350
90 11 37 95 220 360 800 1250
100 11 37 95 220 360 800 1250
2= Tanor N- 3.0E5Em % (3.0 times of Nominal Output Torque)
Emer%ency Stop Torque m (*BKHEiH /I Max.Output Torque T=60% of Emergency Stop Torque)
Nogﬁiaﬁl)l\n%ﬁg;qeed rom 1.2 | 3-100 | 5000 5000 | 4000 | 4000 3000 | 3000 | 2000
B AKNFEIR Nimax rem 1.2 | 3-100 | 10000 | 10000 | 8000 8000 | 6000 | 6000 | 4000
Max.Input Speed :
BAE 2  B ; 1 3-10 | = =2 =2 =1 =1 =1 =
‘ UItrapreuciﬁse Backlash Po[2"“™"[ 512100 = =4 =4 =3 =3 =3 =
BEER arcminl—1 3-10 | = =4 =4 =3 =3 =3 =
Precise Backlash P. 2 12-100] = =6 =6 =5 =5 =5 =
hESE . 1 310 | = =6 =6 =5 =5 =5 =
‘ Standard Backlash P, |2rCMin——5— 45155 = =3 =3 =7 =7 =7 =
FHEEN N.m
‘ Torsiona R%idity Jarcmin| 1.2 | 3-100 | 25 6 12 23 45 75 130
‘ ®,\%§§aﬁ3£' I;_Zcr)sad N 1.2 | 3-100 515 1010 1780 3420 5380 8330 11120
| OpEEER e N | 1.2 | 3100 410 | 600 | 1500 | 2650 | 4670 | 6460 | 8560
[ EFRE Operating Temp.| _°C 3-100 -10°C ~ +90°C
| {EFZ%ds Service Life hr 3-100 20,000(10,000/3%£5=4 Continuous operation)
e % 1 3-10 =97%
Efficiency ° 2 [12-100 =94%
WEE k 1 3-10 0.6 [ 1.3 | 3.5 | 7.8 [ 16.1 ] 27 | 58
el?ht 9 2 12-100 09 [ 20 | 56 | 95 | 19 | 34 | 65
5 Mounting Position| - 1.2 | 3-100 E=75 1 Any direction
[ oiEE{E Noise Level dBA/1Im| 1.2 3-100 56 | 58 | 60 | 63 [ 65 | 67 | 70
PR Protection Class - 1.2 [3-100 Ip65
SEE Lubrication B 1.2 | 3-100 E & kA Synthetic Lubricant
TENEENIER Inertia (J1)
%) Stage IRELY Ratio BA{Z unit| PHR-50 | PHR-70 | PHR-90 |PHR-120| PHR-142 | PHR-180 | PHR-220
3 0.03 0.23 0.97 2.35 10.00 30.50 79.50 |
4 0.02 0.18 0.67 1.66 7.17 25.86 58.21
1 5 0.02 0.17 0.65 1.50 6.52 23.63 54.36 |
6/7/8 0.02 0.14 0.60 1.45 6.17 22.92 54.12
9/10 kg.cm® 0.02 0.14 0.58 1.41 6.10 22.73 53.98 |
T &) Stage IEIEEE Ratio PHR-50| PHR-70 | PHR-90 |[PHR-120| PHR-142 | PHR-180 | PHR-220
15/20/25 0.02 0.17 0.65 0.65 1.50 6.52 23.63 |
2 30/35/40 0.02 0.14 0.60 0.60 1.45 6.17 22.92
45/50/70/80/90/100 0.02 0.14 0.58 0.58 1.41 6.10 22.73

@HEEE100rpmAd , fEBRTF i imOME Applied to the output s

haft center@100rpm. @3000rmpz=#;&MIMeasured at 3000rpm with no load.

L XAENTERI A EEBIBIISH TR EEARM LS. The above figures/specifications are subject to change without prior notice.

FREANFRESRRERRSEARSGRIA , TMEREEEN.

Products due to human error;, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net

ech

www.aibotech.net [INEQ



ech

~ PSF&ES M @RiF R
PSF SERIES FEATURES

TEBEEERHNMIZIT—RE . BRIFEK
REMBAKEIE , FARSEXKHERNMSERHD
HSEEREEEN.

Planetary arm bracket and output shaft are one-piece
constructed, setting bearing apart for larger span to
reach the largest reverse rigid and contribute high
axis radial load capacity.

HAMRE AR ESELLERa 0.2um. 5iBiE
ERERREERREEN RO BHNRE . (RIFHR
EEE |, ERERSS.

Grinding process Ra 0.2um to smooth surface of
output shaft, and with oil-seal to minimum friction
coefficient and reducing start up load; result in the
best seal-ability and extended lifespan.

AR RASTEREE  SEESRRE—
IKRIERL T , BEHAR=ZMRBEVINT.
EEEREE  slHHh, MEEFHA.
STHTHEMRBRRELE , fE , MEE , SES
ERHRIZE B EK,

RD use exclusively the lattest high-tech materials.
The gear box and internal gear are one-piece
Constiucted,and then processed with Mitsubishi
Japan gear shaper machinary for high-precision,
high torque and abrade consumption.

Advanced electroless nickel surface treatment,
scratch resistance, corrosion resistance, are the
most suitable for strict requirements of the high-tech
equipment.

www.aibotech.net

W RIEASRESN  MEETSBRRER
WIBERERERE . FREREEEROSPIE

FEIHBMAENT , LRESRENEE. &
i3 EFE R ST .

Alloy steel gear with unique vacuum carburizing
and heat treatment for the best surface hardness
and inner core tenacity.Additionally,with gear
grinding processing to get the best accuracy high
wear resistance and high impact toughness.

PSFRIIELSHIIEKRIRIT LR R IFRRD
XBEERNEA  RRSRXHENEE. BEE
BigitREBWERINT , fiEHEEEEHE.

PHE. BEEIR. RESRKEGEITER
=,

PSF series allows high speed servo motor input,
reaching maximum torque output. precision gear
design and professional gear processing create

a low backlash operation, high efficiency, smooth
operation, low noise and long life planetary reducer.

ITERREHFRERAR A LUAZIR XS
HEDFMRNERELE RSN R IR
Interface of planetary gear transmission are quipped
with a needle bearing, in order to achieve the maximum
output torque and the minimum gap tolerance, improve
the structure of steel and rotational stability.

FREANFRRSRRERNZSHAREIRA , FERESEER.

ech

APRERIHMAEZRENTITERTER , BIK
SRR, DB RENTHHROERIZE
The sun pinion front bearing is directly arranged in the
fixed frame the whole planet,Mechanical structure
design, in order to ensure the concentric drive element
and the operation stability.

KASHANERERFUERH , BEERH
Higit . LiEABERE , TEABE. RIP65
PEIFSERITIIRIT , TR, KARRS.

High-tech oil seal design on the upper lip guard
against dust intruder, lower lip to guard against oil
leak. Protection grade Ip65 safeguards fully avoid
leaking problam,and given it maintenance-free.

IR IR 5 DI IERTT AR B ERY
ERARLINFEDN , BRSEERTEERE
NEOERZBENNES.

Input-end and motor shaft are combined through a
dynamic balanced collar clamping mechanism to ensuce
connection interface concentricity and zero slip power
transmission at high speed.

SEHEDRERERRT  RARHE XTS5 . U
S5EMITEZAR. SHEIATEEBRES.
Advanced motor connecting plate design combined
with the shaft sleeve, installation Easily, with various
brands of servo, or stepper motor.

Products due to human error, natural disasters or other factors lead to poor or damaged,will not be covered under warranty.

www.aibotech.net INEA



ech

Gz

4

HF& ( Specifications )

- Unit : mm

R Dimensions| PSF42 PSF60 PSF90 | PSF115 | PSF142 | PSF180 | PSF220
D1 50 70 100 [ 130 165 215 250 |
D2 34 5.5 65 85 10.5 13 17
D3h6 13 16 2 | 32 40 55 75 |
D4gs 35 50 80 110 130 160 180
D5 15 25 35 | 45 50 70 20 |
D6 M4x0.7P | M5x0.8P | M8x1.25P | M12x1.75P M16x2.0P | M20x2.5P | M20x2.5P
D7 56 80 118 | 148 186 239 292 |
L1 426 60 90 | 115 142 182 220
L2 26 37 48 | 62 93 104.5 138 |
L3 5.5 7 10 8 8 20 30
L4 1.5 15 15 | 3 6 2.5 3 \
L5 15 25 32 .40 60 70 90
L6 2 2 3 \ 5 5 6 7 \
L7 4 6 8 \ 12 18 16 20
L8 28.3 36 46 | 59 79 87.5 1175 |
L9 4 4 45 6 6 8 7
L10 14 16.5 205 [ 30 38 48 42 |
L11 9.5 11 145 21 17 25.5 27.8
L12 15 20 25 | 30 35 35 40 |
c1’ 46 70 90 115 145 200 235
c2? M4x0.7P | M5x0.8P | M6x1.0P | M8x1.25P | M8x1.25P |M12x1.75P | M12x1.75P|
c3? <8 <14 <19/24 | <24/<28 <35 <50 <55
c4? 27 37 47 | 58 66 82 98 |
C5%s 30 50 70 | 95 110 114.3 200
C6? 4 4 6 10 6 13 12 ]
c7? 426 60 90 | 115 140 182 220
cs? 385 46 55 | 63 80 95 130 |
c9? 92.8 119 149 184 252 287 385.5
B 5 5 6 |10 12 16 20 |
H 15 18 245 35 43 59 79.5

XC1 ~ CORNBIMNEDIRIEZRR T | IBRETERNDIERE -
XAREEREIA LIRS TR R ERATEA -

www.aibotech.net

XC1 ~ C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.

XSpecification subject to change without notice.

PSF SUERIMURJE PSF Double Stage Dimensions

MFE ( Specifications ) : Unit : mm

aCs re

B2

L3

L4

Dinfandions PSF42 PSF60 PSF90 PSF115 PSF142 PSF180 PSF220 )
D1 50 70 100 130 165 215 250
D2 34 55 6.5 8.5 10.5 13 17

D3hs 13 16 22 32 40 55 75
D4gs 35 50 80 110 130 160 180
D5 15 25 35 45 50 70 90
D6 M4x07P | M5x0.8P | M8x125P | M12x1.75P | M16x2.0P | M20x2.5P | M20x2.5P
D7 56 80 118 148 186 239 292
L1 42,6 60 90 115 142 182 220
L2 26 37 48 62 93 104.5 138
L3 55 7 10 8 8 20 30
L4 15 15 15 3 6 2.5 3
L5 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7
L7 4 6 8 12 18 16 20
L8 543 64 86 107 140 1775 232
L9 4 4 45 6 6 8 7
L10 14 16.5 205 30 38 48 22
L11 95 11 14.5 21 17 255 27.8
L12 15 20 25 30 35 35 40
C12 46 70 90 115 145 200 235
c2? M4x0.7P | M5x0.8P | M6x1.0P | M8x1.25P | M8x1.25P | M12x1.75P | M12x1.75P
c3? <8 <14 <19/<24 | <24/<28 <35 <50 =55
C42 27 37 47 58 66 82 98
G5 30 50 70 95 110 1143 200
C6? 4 4 6 10 6 13 12
C7? 426 60 90 115 140 182 220
cg? 385 46 55 63 80 95 130
C9? 1188 147 189 232 313 377 500
B 5 5 6 10 12 16 20
H 15 18 245 35 43 59 795

XC1 ~ CORNHIFEDIAERIRR T | BRAMERIIDIERE -

XARBIERE A E SRS TR R EARSTTEA -

XC1 ~C9 are motor specitc dimensions(metric std shown).
Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

www.aibotech.net



ech

PSF tEEEAMIIEILER Specifications Table

##& Specifications st IRIELL | pSF-42 | PSF-60 | PSF-90 |PSF-115|PSF-142|PSF-180|PSF-220
age | Ratio
3 13.8 44.2 95.2 283 482 1151 1670
4 11.9 35.9 74.6 249 490 1055 1574
5 13.8 43.0 95.2 283 473 1151 1670
1 6 12.5 39.4 90.9 266 436 1055 1574
7 11.9 36.0 85.6 219 400 1055 1574
8 10.9 324 85.0 216 363 860 184
9 9.8 28.7 85.0 210 320 764 1185
_ _ 10 10.1 25.0 75.0 210 320 763 1184
S}"%Ze ']Rﬁ;%%b PSF-42 | PSF-60 | PSF-90 |PSF-115|PSF-142|PSF-180|PSF-220
= 15 13.8 44.2 95.2 283 482 1151 1670
UEHEILHIIE Ton N-m 20 | 119 | 359 | 74.6 | 249 | 490 | 1055 | 1574
Nominal Output Torque 25 138 | 430 | 95.2 | 283 473 151 | 1670
30 3.8 43.0 95.2 283 473 115 1670
35 13.8 43.0 95.2 283 473 1151 1670
40 13.8 43.0 95.2 283 473 1151 1670
2 45 3.8 43.0 95.2 283 473 151 1670
50 13.8 43.0 95.2 283 473 1151 670
60 12.5 39.4 90.9 266 436 1055 1574
70 11.9 36.0 85.6 219 400 1055 1574
80 10.9 32.4 85.0 216 363 860 1184
90 9.8 28.7 80.0 210 320 764 1185
100 10.1 25.0 75.0 210 320 763 1184
SYEHFE Tanor N- 3.0/FaE 0% (3.0 times of Nominal Output Torque)
Emergency Stop Torque m (*RAXHEIH I Max.Output Torque T=60% of Emergency Stop Torque)
Nomiom |npfﬁ'g|;”eed rem 1.2 | 3-100 | 3000 | 3000 | 3000 | 2500 | 2000 | 2000 | 2000
%,v,j‘a@ﬁ}ﬁ%sglemgg rpm | 1.2 | 3-100 | 6000 | 6000 | 6000 | 5000 | 4000 | 4000 | 4000
T e ety . 1 3-10 - - - = = = =
=P\ =] B PR
Ultraprecise Backlash Po elEl 2 12-100 - - - = = = =
EEZER 1 3-10 N = = = = = =
Precise Backlash P, |3rCMIN™ 5457100 - = = = = = =
ES R : 1 3-10 | =12 = = = = = =
Standard Backlash P, | 3TCMiN o565 =15 T =12 | =12 = = = =
HERI N.m
Torsional R‘F(Eidity /arcmin 1.2 3-100 1.0 2.8 7.5 15.5 30 57 110
CEIHERA P N | 1.2 | 3-100| 350 | 960 | 1630 | 3380 | 6150 | 7260 | 11120
BVFHIET) Foe | N ‘ 1.2 | 3-100 | 320 | 900 | 1420 | 2930 | 5510 | 5550 | 8560
EHRE Operating Temp.] °C 3-100 -10°C ~ +90°C
{FEHR%Se Service Life hr | 3-100 20,000(10,000/7%%5=4 Continuous operation)
BE = 1| 3-10 =96%
Efficiency ° 2 12-100 =902%
WEE Q@ 1 310 | 06 [ 12 32 | 75 [ 156 | 26 | 56
cight 9 [ 2 [12-100] 0.8 | 19 | 53 12 | 207 | 36 | 80
LA Mounting Position = 1.2 [ 3-100 {EFE&5 [ Any direction
@IEZ{E Noise Level dBA/Im| 1.2 | 3-100| 60 | 62 | 65 | 65 | 70 [ 70 [ 75
[53FZ2 Protection Class - 1.2 | 3-100 Ip65 .
SEE Lubrication - | 1.2 | 3-100 & E:ERAg Synthetic Lubricant

IR EENIEE Inertia (J1)

T# Stage IR Ratio EA{Y unit| PSF-42 | PSF-60 | PSF-90 |PSF-115|PSF-142 | PSF-180 | PSF-220
3 0.30 0.20 0.81 2.20 7.89 25.2 77.9
4 0.20 0.16 0.65 1.80 5.83 19.8 56.5
1 5 0.20 0.15 0.62 1.61 5.38 18.3 53.3
6/7/8 0.20 0.14 0.60 1.55 5.22 17.8 53.0
9/10 kg.cm’ 0.20 0.14 0.60 1.53 5.20 17.6 52.9

T Stage IHIEEL Ratio PSF-42 | PSF-60 | PSF-90 [PSF-115|PSF-142 |PSF-180 [PSF-220
15/20/25 0.02 0.15 0.62 1.61 5.38 18.3 53.9
2 30/35/40 0.02 0.14 0.60 1.55 5.22 17.8 53.0
45/50/70/80/90/100 0.02 0.14 0.60 1.53 5.20 17.6 52.9

OEHEEE100rpmAT , {ERFHHihTMIE Applied to the output shaft center@100rpm. @3000rmpZzk&EillMeasured at 3000rpm with no load.

XA TERIA RS TR TEALEA. The above figures/specifications are subject to change without prior notice.

FREANFRESRRERRSEARSGRIA , TMEREEEN.

Products due to human error;, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net

U

‘w s

|

N

ech

www.aibotech.net IER



ech

& ( Specifications )

- Unit : mm

Cs _ Ls [z
L11 r L7 L3
M —i' L2 7
\ i
%Q_%g_j 1 833
| L
Cs o
» s Ls Ls
2 TR 8~
(<
=1 @)
AT
L1o
Mg ( Specifications ) : Unit : mm
(R~ Dimensions PSR50 PSR70 PSR90 PSR120 PSR142 PSR180 PSR220
D1 50 70 100 130 165 215 250
D2 34 6 6.5 8.5 10.5 13 17
D3he 13 16 22 32 40 55 75
D4gs 35 50 80 110 130 160 180
D5 15 25 35 45 50 70 90
D6 M4x0.7P M5x0.8P | M8x1.25P |M12x1.75P| M16x2.0P | M20x2.5P | M20x2.5P
D7 64 90 120 152 186 239 292
L1 50 70 94 120 142 182 220
L2 24.5 37 43 60 93 104.5 138
L3 4 7 5 6 8 20 30
L4 15 1.5 15 3 6 2.5 3
L5 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7
L7 5 6 10 12 18 16 20
L8 30 36 51 61 79 87.5 1175
L9 4 4 4.5 6 6 8 7
L10 14 16.5 20.5 30 38 48 42
L11 9.6 11 13.5 21 17 25.5 27.8
L12 15 20 25 30 35 35 40
C12 46 70 90 115 145 200 235
c2? M4x0.7P M5x0.8P M6x1.0P | M8x1.25P | M8x1.25P | M12x1.75P | M12x1.75P
C32 <8 <14 <19/<24 | =24/<28 <35 <50 <55
c4? 27 35 43 58 66 82 98
C5%s 30 50 70 95 110 114.3 200
C62 4 5 5 8 6 13 12
C7? 50 70 94 120 140 182 220
Cc8? 34 44 50 63 80 95 130
Cc9? 88.5 117 144 184 252 287 385.5
B 5 5 6 10 12 16 20
H 15 18 24.5 35 43 59 79.5

XC1 ~ CORNBIMNEDIRIEZRR T | IBRETERNDIERE -

XAREEREIA LIRS TR R ERATEA -

www.aibotech.net

XC1 ~ C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

Dinfandions PSR50 PSR70 PSR90 PSR120 PSR142 PSR180 PSR220
D1 50 70 100 130 165 215 250
D2 34 6 6.5 85 10.5 13 17

D3ne 13 16 22 32 40 55 75
D4ge 35 50 80 110 130 160 180
D5 15 25 35 45 50 70 90

D6 M4x0.7P | M5x0.8P | M8x1.25P | M12x1.75P | M16x2.0P | M20x2.5P | M20x2.5P
D7 64 90 120 152 186 239 292
L1 50 70 94 120 142 182 220
L2 245 37 43 60 93 104.5 138
L3 4 7 5 6 8 20 30
L4 15 15 15 3 6 2.5 3
L5 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7
L7 5 6 10 12 18 16 20
L8 56 64 91 109 140 177.5 232
L9 4 4 45 6 6 8 7
L10 14 16.5 205 30 38 48 a2
L11 96 11 135 21 17 255 27.8
L12 15 20 25 30 35 35 40
C12 46 70 90 115 145 200 235
c22 M4x0.7P | M5x0.8P | M6x1.0P | M8x125P | M8x1.25P | M12x1.75P | M12x1.75P
C32 <8 <14 <19/<24 | <24/<28 <35 <50 =55
C42 27 35 43 58 66 82 98
C5% 30 50 70 95 110 1143 200
C62 4 5 5 8 6 13 12
C72 50 70 94 120 140 182 220
C82 34 44 50 63 80 95 130
C9? 114.5 145 184 232 313 377 500
B 5 5 6 10 12 16 20
H 15 18 245 35 43 59 79.5

XC1 ~ CORNBIMNEDIRIEERR T | IBIRETEMNDIERE -

XERTEREIA LIRS TR R BRI TEA -

XC1 ~ C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

www.aibotech.net




ech

PSR MEENIIEILER Specifications Table

##& Specifications T8 | gL | psr-s0 | PSR-70 | PSR-90 |PSR-120|PSR-142| PSR-180|PSR-220
Stage | Ratio
3 138 | 442 | 952 | 283 | 482 | 1151 | 1670
4 1.9 | 359 | 74.6 | 249 | 490 | 1055 | 1574
5 138 | 430 | 95.2 | 283 | 473 | 1151 | 1670
] 6 125 | 394 | 90.9 | 266 | 436 | 1055 | 1574
7 11.9 | 36.0 | 85.6 | 219 | 400 | 1055 | 1574
8 109 | 324 | 850 | 216 | 363 | 860 | 1184
9 98 | 287 | 850 | 210 | 320 | 764 | 1185
‘ 10.1 | 250 | 75.0 | 210 | 320 | 763 | 1184
S?a%sze IR!E;TEIE)E PSR-50 | PSR-70 | PSR-90 |PSR-120|PSR-142|PSR-180|PSR-220
e 15 138 | 442 | 95.2 | 283 | 482 | 1151 | 1670
N gﬁrtfﬁétﬂmﬁlz” N m 20 | 11.9 | 359 | 74.6 | 249 | 490 | 1055 | 1574
ominal Output Torque 25 138 | 43.0 | 95.2 | 283 | 473 | 1151 | 1670
30 138 | 430 | 95.2 | 283 | 473 5 670
35 13.8 | 43.0 | 95.2 | 283 | 473 | 1151 | 1670
40 3.8 | 430 | 95.2 | 283 | 473 151 _| 1670
2 45 138 | 43.0 | 95.2 | 283 | 473 | 1151 | 1670
50 138 | 430 | 95.2 | 283 | 473 | 1151 | 1670
60 125 | 394 | 90.9 | 266 | 436 | 1055 | 1574
70 19 | 36.0 | 856 | 219 | 400 | 1055 | 1574
80 109 | 324 | 850 | 216 | 363 | 860 184
90 9.8 | 28.7 | 80.0 | 210 | 320 | 764 | 1185
100 | 101 | 25.0 | 75.0 | 210 | 320 | 763 | 1184
2ZFIFE Tovor N- 3.0fEEm T O%E (3.0 times of Nominal Output Torque)
Emergency Stop Torque m H—j:ﬁﬂjjjﬁﬁ Max.Output Torque Tx=60% of Emergency Stop Torque)
Nofﬁ,ﬁa% InleTtrs]ENeed rem | 1.2 |3-100 3000 | 3000 | 3000 | 2500 | 2000 | 2000 | 2000
%&g@(gfﬁﬁ?ggg rpm | 1.2 |3-100| 6000 | 6000 | 6000 | 5000 | 4000 | 4000 | 4000
BT S . I [ 3-10 | - = = 3 3 3 3
UItraprease BackIash p, |2T€MIN™5 12-100] - = = <5 <5 <5 <5
T . 1 | 310 - <6 <6 <5 <5 <5 <5
Precise Backlash P, |arcmin 2 [12-100] - <9 <9 <7 <7 <7 <7
TnES R ; 1 3-10 <12 <9 <9 <7 <7 <7 <7
Standard Backlash P, |arcmin 2 [12-100] <15 <12 <12 <9 <9 <9 <9
Torsiong IlZJlllgidity 12 [3-100) 10 | 28 | 75 | 155 | 30 57 | 110
CEier e N | 12 [3-100 350 | 960 | 1630 | 3380 | 6150 | 7260 | 11120
VEYEE P N | 1.2 |3-100| 320 | 900 | 1420 | 2930 | 5510 | 5550 | 8560
fEFEE Operating Temp.|  °C 3-100 -10°C ~ +90°C
fFH %np SerV|ce Life hr 3-100 20,000(10,000/3%%5z4 Continuous operation) |
o 1 | 3-10 >96%
EfflClency ° 2 |12-100 292%
WER K 1 310 07 | 14 | 30 73 | 156 | 26 | 56 |
cight 9 2 [12-100] 09 | 22 | 50 | 115 | 207 | 36 | 80 |
Z%E57E Mounting Position| - 1.2 [3-100 E&/5E Any direction
oE={E Noise Level dBA/Im| 1.2 [3-100] 60 | 62 | 65 | 65 | 70 | 70 | 75 |
BHIPZE4R Protection Class = 1.2 [3-100 Ip65
@8 Lubrication - 1.2 [3-100 & BEEHAg Synthetic Lubricant |
RIENESNIRE Inertia (J1)
T Stage|  @iELL Ratio  [EAfi unit] PSR-50 [ PSR-70 | PSR-90 [PSR-120] PSR-142 | PSR-180 | PSR-220
3 0.30 020 | 081 2.20 7.89 252 779 |
4 0.20 016 065 1.80 5.83 198 56.5
1 5 0.20 015 | 062 161 5.83 183 533 |
7 0.20 014 | 0.60 1.55 5.22 17.8 53.0
10 kg.cm | 0.20 014 | 060 1.53 5.20 17.6 529 |
T# Stage|  AiEEL Ratio PSR-50 | PSR-70 PSR-90 PSR-120|PSR-142|PSR-180 PSR-220
15/20/25 0.02 015 | 062 1.61 583 18.3 539 |
2 30/35/40 0.02 014 [ 0.60 1.55 522 17.8 53.0
50/70/100 0.02 0.14 | 0.60 1.53 5.20 17.6 52.9

OiIHEEEL0OrpmAT , YERTFia M CMiIE Applied to the output shaft center@100rpm. @3000rmp=s#;EillMeasured at 3000rpm with no load.

XARNEERI LA ESEEAEHT

RIHEARSEEH. The above figures/specifications are subject to change without prior notice.

FREANFRESRRERZSEARGRIA , MEREEEN.

Products due to human error;, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net

0 g

BO TECHNOLO

ech

www.aibotech.net INEN



ech

cs L
<LA
; i
algl 1 1 _ E[é“
S 5 O Sy =
2 I
%é\ % Ls Ls
<, 8| =t
sty
L10
A& ( Specifications ) : Unit : mm
R~ Dimensions] PSN50 PSN70 PSN90 PSN120 PSN155 PSN205 PSN235
D1 44 62 80 108 140 184 210
D2 M4x0.7P M5x0.8P M6x1.0P | M8x1.25P | M8x1.25P |M12x1.75P | M16x2.0P
D3he 13 16 22 32 40 55 75
D4hne 35 52 68 90 120 160 180
D5 15 25 35 45 50 70 90
D6 M4x0.7P M5x0.8P | M8x1.25P |[M12x1.75P| M16x2.0P | M20x2.5P | M20x2.5P
D7 50 70 94 120 155 205 235
L2 24.5 35 48 60 93 99.5 126
L3 4 5 10 6 8 15 18
L4 1.5 1.5 1.5 3 6 25 3
L5 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7
L7 8 10 10 15 18 21 32
L8 30 38 46 61 79 925 1295
L9 4 4 45 6 6 8 7
L10 14 16.5 20.5 30 38 48 42
L11 9.6 11 13.5 21 17 255 27.8
L12 15 20 25 30 35 35 40
C1? 46 70 90 115 145 200 235
c2? M4x0.7P M5x0.8P M6x1.0P | M8x1.25P | M8x1.25P |M12x1.75P | M12x1.75P
C32 <8 <14 <19/<24 <24/<28 <35 <50 <55
C4? 27 35 43 58 66 82 98
C5%s 30 50 70 95 110 114.3 200
C6? 4 5 5 8 6 13 12
C7? 50 70 94 120 140 182 220
C8? 34 44 50 63 80 95 130
C92 88.5 117 144 184 252 287 385.5
B 5 5 6 10 12 16 20
H 15 18 245 35 43 59 79.5

XCL ~ CORNBIFREDIXIEERR T | IBIRETERNDIARE

XAREEREIA ESIEESHI TR R EARSATEA -

www.aibotech.net

XC1 ~C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

aCs 4

Cs

L2

L4
e

=]
: i
R
iasg
- a

D3 ¢
aDs
D4 26

o B

[ s g
Y -

[m{o7]

Mg ( Specifications ) : Unit : mm

Ly T

bimsgons | PSN50 PSN70 PSN90 PSN120 PSN155 PSN205 PSN235
D1 44 62 80 108 140 184 210
D2 M4x0.7P | M5x0.8P | M6x1.0P | M8x125P | M8x125P | M12x1.75P | M16x2.0P
D3h6 13 16 22 32 40 55 75
D4g6 35 52 68 90 120 160 180
D5 15 25 35 45 50 70 90
D6 M4x0.7P | M5x0.8P | M8x125P | M12x175P | M16x2.0P | M20x2.5P | M20x2.5P
D7 50 70 94 120 155 205 235
L2 24.5 35 48 60 93 99.5 126
L3 4 5 10 6 8 15 18
L4 15 1.5 15 3 6 2.5 3
L5 15 25 32 40 60 70 90
L6 2 2 3 5 5 6 7
L7 8 10 10 15 18 21 32
L8 56 66 86 109 140 182.5 244
L9 4 4 4.5 6 6 8 7
L10 14 16.5 20.5 30 38 48 42
L11 9.6 11 13.5 21 17 25.5 27.8
L12 15 20 25 30 35 35 40
c1? 46 70 90 115 145 200 235
c2? M4x07P | M5x0.8P | M6x1.0P | M8x1.25P | M8x1.25P | M12x1.75P | M12x1.75P
C3? <8 =14 <19/<24 <24/=28 <35 <50 <55
ca? 27 35 43 58 66 82 98
C5% 30 50 70 95 110 114.3 200
c6’ 4 5 5 8 6 13 12
c7? 50 70 94 120 140 182 220
cs? 34 44 50 63 80 95 130
C9? 114.5 145 184 232 313 377 500
B 5 5 6 10 12 16 20
H 15 18 24.5 35 43 59 79.5

XC1 ~ CORNHIFREDIAEEIRR T |, ISRATERIIDIEIRE -

XARNBIERE I L SRS TR R EASATEA -

XC1 ~ C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

www.aibotech.net




ech

PSN M48ERIIEFER Specifications Table

#I#& Specifications S}:%Sl THIELY | pSN-50 | PSN-70 | PSN-90 [PSN-120{PSN-155/PSN-205PSN-235
age | Ratio
3 138 | 442 | 952 | 283 | 482 | 1151 | 1670
4 11.9 | 35.9 | 74.6 | 249 | 490 | 1055 | 1574
5 13.8 | 43.0 | 95.2 | 283 | 473 | 1151 | 1670
1 6 125 | 394 | 90.9 | 266 | 436 | 1055 | 1574
7 11.9 | 36.0 | 85.6 | 219 | 400 | 1055 | 1574
8 10.9 | 324 | 85.0 | 216 | 363 | 860 84
9 9.8 | 28.7 | 85.0 | 210 | 320 | 764 | 1185
10% 101 | 25.0 | 75.0 | 210 | 320 | 763 | 1184
EH | R - - i - i - i
shage | Ramia | PSN-50 | PSN-70| PSN-90 |PSN-120|PSN-155/PSN-205|PSN-235
. 15 138 | 44.2 | 95.2 | 283 | 482 | 1151 | 1670
N g.mrtf%ﬂjmﬁ T N-m 20 | 119 | 350 | 74.6 | 249 | 490 | 1055 | 1574
ominal Output Torque 25 138 | 43.0 | 95.2 | 283 | 473 | 1151 | 1670
30 3.8 | 43.0 | 95.2 | 283 | 473 | 1151 670
35 13.8 | 43.0 | 95.2 | 283 | 473 | 1151 | 1670
40 38 | 430 | 952 | 283 | 473 5 670
2 45 13.8 | 43.0 | 95.2 | 283 | 473 | 1151 | 1670
50 138 | 43.0 | 95.2 | 283 | 473 | 1151 | 1670
60 125 | 394 | 90.9 | 266 | 436 | 1055 | 1574
70 19 | 360 | 85.6 | 219 | 400 | 1055 | 1574
80 10.9 | 324 | 85.0 | 216 | 363 | 860 84
90 98 | 287 | 80.0 | 210 | 320 | 764 185
100 | 101 | 250 | 75.0 | 210 | 320 | 763 184
B35 Tanor N- 3.0fEEEm 0% (3.0 times of Nominal Output Torque)
Emergency Stop Torque m (*EXEH 0% Max.Output Torque Ts=60% of Emergency Stop Torque)
[ BEBRANER
Nofﬁ'ﬁa“, IanJEQENeed rom | 1.2 |3-100| 3000 | 3000 | 3000 | 2500 | 2000 | 2000 | 2000
PNl rpm | 1.2 |3-100| 6000 | 6000 | 6000 | 5000 | 4000 | 4000 | 4000
BEZ e ! 3-10 = = = <3 <3 <3 <3
UItraprenciﬁse Backlash P, |2"€MIN—5172-100 - - - <5 <5 <5 <5
RS 11 3-10 - <6 <6 <5 <5 <5 <5
Precise Backlash P, [3T¢MIN™5175700] - <9 <9 <7 <7 <7 <7
TRES R LT 3-10 <12 <9 <9 <7 <7 <7 <7
Standard Backlash P. arcmin™>—112-100] <15 <12 <12 <9 <9 <9 <9
Torsifaﬂnf FIJ{'lgidity Jemi 1.2 |3-100| 10 2.8 75 | 155 | 30 57 110
CEiren R N 12 |3-100] 350 | 960 | 1630 | 3380 | 6150 | 7260 | 11120
OBVFHEIET) P N | 12 |3-100] 320 | 900 | 1420 | 2930 | 5510 | 5550 | 8560
FFRE Operating Temp.| °C_ | 3-100 -10°C ~ +90°C
fEF%ap Service Life hr | 3-100 20,000(10,000/3%%5z4 Continuous operation)
e % |1 | 3-10 >96%
Efficiency ° [ 2 12-100 >92%
WEE kg 1 [3-10 [ 07 [ 14 [ 30 73 | 156 | 26 | 56
eight 9 |2 12-100] 09 | 22 | 50 | 115 | 207 | 36 | 80
ZZE5E Mounting Position| - 1.2 [3-100 fE=4 @ Any direction
@IESE Noise Level dBA/im| 1.2 |3-100] 60 | 62 | 65 | 65 | 70 70 | 75
BHIR52R Protection Class - | 1.2 [3-100 Ip65
1.2

@8 Lubrication - [ 1. 3-100 £ & BkEEHAg Synthetic Lubricant
BN EERNIRE Inertia (J1)
% Stage JRIELY Ratio BA{7 unit| PSN-50 | PSN-70 | PSR-90 [PSN-120[ PSN-155 | PSN-205 | PSN-235
3 0.30 0.20 0.81 2.20 7.89 25.2 779
4 0.20 0.16 0.65 1.80 5.83 19.8 56.5
1 5 0.20 0.15 0.62 1.61 5.83 18.3 53.3
7 0.20 0.14 0.60 1.55 5.22 17.8 53.0
10 kg.cm’ 0.20 0.14 0.60 1.53 5.20 176 52.9
T4 Stage THIEEE Ratio PSN-50 | PSN-70 [PSN-90 |PSN-120/PSN-155/PSN-205/PSN-235
15/20/25 0.02 0.15 0.62 1.61 5.83 18.3 53.9
2 30/35/40 0.02 0.14 0.60 155 522 17.8 53.0
50/70/100 0.02 0.14 0.60 1.53 5.20 17.6 52.9

OEHEEEL00rpmAT , {ER Tt MiIE Applied to the output shaft center@100rpm. @3000rmpZS#&illMeasured at 3000rpm with no load.

XANTERIA LSRR TR B EAS L. The above figures/specifications are subject to change without prior notice. J

FREANFRESRRERZSEARGRIA , MEREEEN.

Products due to human error;, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net

ech

www.aibotech.net [INNEE



ech

PHZ SERIES FEATURES

(muﬁﬂFﬁ%ﬁj

ITERIEZRN MR —RAEY | BRIFIEH
RENMENKEIE , ANARIRATHEENIER H
HSEEaEEEN.

Planetary arm bracket and output shaft are
one-piece constructed,setting bearing apart
for larger span to reach the largest reverse
rigid and contribute high axis radial load
capacity.

HoiRE A E L ERa 0.2urn.  SilEE

ECRRRERRSAIR O ERE , (RERER
i, ERKERSS.

Grinding process Ra 0.2um to smooth surface of
output shaft, and with oil-seal to minimum friction
coefficient and reducing start up load; result in
the best seal-ability and extended lifespan.

AR RARIERER , BESRIRE—
HRIRIERT, , BEAR=ZMRBEENINTI.
EEeREE, 5lHh, MEEFRFA.
STHTRMBRRELE | E , WEE , SES
RIS E AT EK,

RD use exclusively the lattest high-tech materials.
The gear box and internal gear are one-piece
Constiucted,and then processed with Mitsubishi
Japan gear shaper machinary for high-precision,
high torque and abrade consumption.

Advanced electroless nickel surface treatment,
scratch resistance, corrosion resistance, are the
most suitable for strict requirements of the high-tech
equipment.

www.aibotech.net

WM REASREEN , MIFETSHRRIGE
ERERE , REXEEEROSE . TS
BUBENIT , LSRISRIEAVEE. ShiEfEREm
I,

Alloy steel gear with unique vacuum carburizing
and heat treatment for the best surface hardness
and inner core tenacity. Additionally, with gear
grinding processing to get the best accuracy, high
wear resistance and high impact toughness.

ech

Z )| FE PR RASRE SN
N | MR, BRAITIRRUNE
— =K LA ARSI =L
| 2. REISRHEERERRIE
N R,
8 Alloy steel spiral bevel gears
| lapping selected after hobbing
and heat treatment to ensurehigh
accuracy of the engagement point,
low backlash and low noise.

APRARIRHAREEENTTEETESR
W, BATRESEIRT , LERERTT
HRIEOE.

The sun gear bearing is placed
directly into the planetary arm
bracket, the overall mechanical
structure designed to ensure
concentricity of the transmission
components.

PHZZRFIEEKiGTT ERATRIHARSIASEIRIEA |
RESERHLEE., ERRITATHETE. BEE
RTRSWERINT , SISHEREEER. 5%
£ RIRENEBIHTERIEL.

PHZ Series overall design is suitable for combination
operation with servo motor high-spead input and
achieves maximum torque output. Right-angular
designed drastically reduce the installation space.
Precision gear design and gear processing create
a planetary gearhead with low backlash operation.
high efficiency, low noise and long lifespan.

TEEREHFRERARHE . KRR
HAMRNIEAE | RSN R,

Interface of planetary gear transmission

are equipped with a needle bearing to achieve

maximum output torque and the minimum

gap tolerance, and to improve the structure of

rigid and stable rotation.

FREANFRRSRRERNZSHAREIRA , FERESEER.

BRHEIRT EEALEE . TEAHE.
IP6SPFERAIES LT , RASKIEEHE

R N, KARRF.

High-tech oil seal design on the upper lip
guard against dust intruder, lower lip to
guard against oil leak. Advanced lubricants
grease and IP65 protection safeguards
fully avoid leaking and given it
maintenance-free.

BANTRASBEECNCRE. LIRS
SRR RSREES. BiEPRs
TEREATREFRGE  TENERRESS
FHXIREPEK.

Right angular are processed by precision
CNC equipment to get the highest
combination with spiral bevel gears. Spiral
bevel gear box surface without electorolytic
nickel, scratch hard corrosion optimal
high-tech devices harsh Demand.

BNHSEIANIIELS T Z R ET W
1, IRREINFHESHT  BREEET ,
ZERENROCERTBENNEE.

Input-end and motor shaft are combined through

# a dynamic balanced collar clamping to ensure

connection interface concentricity and zero slip
power transmission at high speed.

SEHEIREERIRT  REATHEE 8
B  USRMITEZAER. SHIKATERE
EcBA.

Advanced motor connecting, plate design
combined with the shaft sleeve, installation
easily, with various brands of servo, or
stepper motor .

Products due to human error, natural disasters or other factors lead to poor or damaged,will not be covered under warranty.

www.aibotech.net INER



ech

Lg

r/]\‘

—

]
i

]

i
0C3
e o
oCs s =

L1o
Ht& (Specifications) : Unit: mm
R~} Dimensions PHZ42 PHZ60 PHZ90 PHZ115 PHZ142
D1 50 70 100 130 165
D2 3.4 5.5 6.5 8.5 10.5
D3he 13 16 22 32 40
D4ge 35 50 80 110 130
D5 15 25 35 45 50
D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P
D7 56 80 118 148 186
L1 42.6 60 920 115 142
L2 26 37 48 62 93
L3 5.5 7 10 8 8
L4 1.5 1.5 1.5 3 6
L5 15 25 32 40 60
L6 2 2 3 5 5
L7 4 6 8 12 18
L8 103.6 148.7 204 244.5 330
L9 4 4 4.5 6 6
L10 14 16.5 20.5 30 38
L11 115 115 13 16 20.3
L12 15 20 20 30 30
C1? 46 70 90 115 145
Cc2? M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P
C3? <8 <14 <19/<24 <24 <35
C4? 29 34 44 53 75
C5%s 30 50 70 95 110
C6? 6 5 5 6 9
C7? 42.6 60 90 115 140
C8? 25 33 35 48 65
C9? 70.8 107.8 135 174.5 207
B 5 5 6 10 12
H 15 18 24.5 35 43

XCL ~ CORNBIFREDIXIEERR T | IBIRETERNDIARE

XAREEREIA ESIEESHI TR R EARSATEA -

www.aibotech.net

XC1 ~C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

Ls

Ca
G4

& (Specifications) : Unit: mm
R~ Dimensions PHZ42 PHZ60 PHZ90 PHZ115 PHZ142
D1 50 70 100 130 165
D2 3.4 5.5 6.5 8.5 10.5
D3he 13 16 22 32 40
D4ge 35 50 80 110 130
D5 15 25 35 45 50
D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P
D7 56 80 118 148 186
L1 42.6 60 90 115 142
L2 26 37 48 62 93
L3 5.5 7 10 8 8
L4 1.5 1.5 1.5 3 6
L5 15 25 32 40 60
L6 2 2 3 5 5
L7 4 6 8 12 18
L8 129.6 176.7 244 292.5 391
L9 4 4 4.5 6 6
L10 14 16.5 20.5 30 38
L11 115 11.5 13 16 20.3
L12 15 20 20 30 30
C12 46 70 90 115 145
C22 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P
C3? <8 <14 <19/<24 <24 <35
C4? 29 34 44 53 75
C5%s 30 50 70 95 110
C6? 6 5 5 6 9
C7? 42.6 60 90 115 140
C8? 25 33 35 48 65
C92 70.8 107.8 135 174.5 207
B 5 5 6 10 12
H 15 18 24.5 35 43

XC1 ~ CORNHIREDINERIRR T | IBRAMERINDIERE -

XANBIERE I LA E SRS TR R EAST TEA -

XC1 ~C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

www.aibotech.net




ech

PHZ tEEEFIIEIEER Specifications Table

. el IREREL
R Spec|f|cat|ons Sta%e IRatiO PHZ-42 PHZ-60 PHZ-90 PHZ-115 | PHZ-142
3 19 53 145 290 520
4 20 55 150 300 550
5 17 54 140 290 530
6 15 46 135 280 490
1 7 14 44 125 270 450
8 12 41 110 240 390
9 1" 37 95 220 360
‘ﬁfgtb " 37 95 220 360
T REL | PHZ-42 | PHZ-60 | PHZ-90 | PHZ-115 | PHZ-142
15 19 53 145 290 520
N 20 20 55 150 300 550
g)ﬁZEEEIJtHijE Ton N-m 25 17 54 140 290 530
Nominal OUtpUt TOque 30 17 54 140 290 530
35 17 54 140 290 530
40 17 54 140 290 530
2 45 17 54 140 290 530
50 17 54 140 290 530
60 15 46 135 280 490
70 14 44 125 270 450
80 12 41 110 240 390
90 11 37 95 220 360
100 1 37 95 220 360
SMESI5E Tanor N- 3.0/ZEnERIE 0% (3.0 times of Nominal Output Torque)
Emergency Stop Torque m (*EXEIH % Max.Output Torque T=60% of Emergency Stop Torque)
Nomp =t Input ?‘;Zed rpm 1.2 3-100 5000 5000 4000 4000 3000
Eﬁdﬁf,{}ﬁ’% Qelg“‘“ rem | 1.2 | 3-100 | 10000 | 10000 8000 8000 6000
BREESE . 1 3-10 = = = = =
UItrapreC|se Backlash p, |3rcmin 2 12-100 - - =5 =4 =4
. 1 3-10 =5 =5 =5 =4 =4
PreC|se Backlash P: arcmin 2 12-100 =7 =7 =7 =7 =7 }
NESRE : 1 3-10 =7 E =7 =6 =6
Standard Backlash p, |arcmin 2 12-100 =9 =9 =9 =9 =9
N N.m
Torsiona R%idity Jarcmin|  1-2 3-100 2.5 12 23 45
NE/R
CEIHER P N 1.2 | 3-100 515 1010 1780 3420 5380
Oﬁ’gﬁ%ﬁ? LFg"aB d N 1.2 3-100 410 600 1500 2650 4670
fEFRE Operating Temp.| _°C 3-100 -10°C ~ +90°C
ERED fp < Service Life hr 3-100 20,000(10,000/3&%5=4 Continuous operation)
% 1 3-10 =95%
Eff|C|ency ° 2 12-100 =92%
WE K 1 3-10 10 | 26 | 68 [ 135 | 251
cight 9 2 12-100 14 | 33 | 89 | 180 | 302
[ ZZEF5E Mounting Position| - 1.2 3-100 EE5 [ Any direction
@IRE(E Noise Level dBA/Im| 1.2 3-100 62 | 64 | 66 | 68 | 710
BE3REEZ;, Protection Class = 1.2 3-100 Ip65
SEE Lubrication - 1.2 3-100 2 & GEBHAg Synthetic Lubricant
HEEEIRE Inertia (J1)
5% Stage|  JEiELL Ratio  [Bf7unit | PHZ-42 PHZ-60 PHZ-90 | PHZ-115  PHZ-142 ‘
3/4/5/7/9 0.06 0.40 2.28 6.87 24.2 ‘
1
6/8/10/14/20 0.05 0.30 1.45 4.76 145 \
% Stage| JRIELL Ratio kg.cw’ | PHZ-42 PHZ-60 PHZ-90 | PHZ-115 | PHZ-142 \
15/20/25/35/45 0.06 0.40 2.28 3.02 7.83
2
others 0.05 0.30 1.45 1.64 5.00
OBHEEELOOrpmiT , fEFRFEHEFIMIE Applied to the output shaft center@100rpm. @3000rmpzS#k&MIMeasured at 3000rpm with no load.
KANTERTIA EEURAEHH TR EARSLEH. The above figures/specifications are subject to change without prior notice.

FREANFRESRREEZSEARSRIA , TMERECEN.

Products due to human error;, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net

g | gy |

ech

www.aibotech.net INEN



ech

wD4 gt

Mg (Specifications) : Unit: mm

R~ Dimensions

PSZ42 PSZ60 PSZ90 PSZ115 PSZ142
D1 50 70 100 130 165
D2 34 5.5 6.5 8.5 10.5

D3he 13 16 22 32 40
D4g6 35 50 80 110 130
D5 15 25 35 45 50

D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P
D7 56 80 118 148 186
L1 426 60 90 115 142
L2 26 37 48 62 93
L3 5.5 7 10 8 8
L4 1.5 1.5 1.5 3 6
L5 15 25 32 40 60
L6 2 2 3 5 5
L7 4 6 8 12 18
L8 103.6 148.7 204 2445 330
L9 4 4 45 6 6
L10 14 16.5 20.5 30 38
L11 11.5 11.5 13 16 20.3
L12 15 20 20 30 30
Cc1? 46 70 90 115 145
C2? M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P
C3?2 <8 <14 <19/<24 <24 <35
Cc4? 29 34 44 53 75
C5%s 30 50 70 95 110
C6? 6 5 5 6 9
C7? 426 60 90 115 140
c8? 25 33 35 48 65
Cc9? 70.8 107.8 135 174.5 207
B 5 5 6 10 12
§ H 15 18 245 35 43

A |
‘ -1 Ls Ls . % ‘
a3 = W
Pl =@ L &
oG . —. e T ‘
005 f8 =2 L10
Ht& (Specifications) : Unit: mm
R~ Dimensions PSZ42 PSZ60 PSZ90 PSZ115 PSZ142
D1 50 70 100 130 165
D2 34 5.5 6.5 8.5 10.5
D3he 13 16 22 32 40
D4g6 35 50 80 110 130
D5 15 25 35 45 50
D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P
D7 56 80 118 148 186
L1 42.6 60 90 115 142
L2 26 37 48 62 93
L3 55 7 10 8 8
L4 1.5 1.5 1.5 3 6
L5 15 25 32 40 60
L6 2 2 3 5 5
L7 4 6 8 12 18
L8 129.6 176.7 244 2925 391
L9 4 4 4.5 6 6
L10 14 16.5 20.5 30 38
L11 115 115 13 16 20.3
L12 15 20 20 30 30
C12 46 70 90 115 145
C22 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P
C3? <8 <14 <19/<24 <24 <35
C4? 29 34 44 53 75
C5%s 30 50 70 95 110
C6? 6 5 5 6 9
C7? 42.6 60 90 115 140
C82 25 33 35 48 65
C92 70.8 107.8 135 174.5 207
B 5 5 6 10 12
H 15 18 24.5 35 43

XCL ~ CORNBIFREDIXIEERR T | IBIRETERNDIARE

XAREEREIA ESIEESHI TR R EARSATEA -

www.aibotech.net

XC1 ~C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

XC1 ~ CORNHIREDINERIRR T | IBRAMERINDIERE -

XANBIERE I LA E SRS TR R EAST TEA -

XC1 ~C9 are motor specitc dimensions(metric std shown).

Size may vary according to motor flange chosen.
XSpecification subject to change without notice.

www.aibotech.net




ech

PSZ MEEAIIEILER Specifications Table

— e IRIELL
A& Specifications sE%ﬂe Ratio | PSZ-42 | PSZ-60 | PSZ-90 | PSZ-115 | PSZ-142
3 13.8 44.2 95.2 283 482
4 11.9 35.9 74.6 | 249 490
5 13.8 43.0 95.2 283 473
6 12.5 394 90.9 266 436
1 7 11.9 36.0 85.6 219 400
8 10.9 324 85.0 216 363
9 9.8 28.7 85.0 210 320
10 10.1 25.0 75.0 210 320
T IRERLE _ _ - - _
stoel Wao | 0 T esa | oams o oam
e 58 Ton N-m 20 1.9 350 74.6 | 249 490
Nominal OUtpUt Torque 25 3.8 43.0 05.2 283 473
30 3.8 43.0 95.2 | 283 473
35 13.8 43.0 95.2 283 473
40 3.8 43.0 95.2 | 283 473
2 45 13.8 43.0 95.2 283 473
50 13.8 43.0 95.2 | 283 473
60 12.5 394 90.9 266 436
70 11.9 36.0 85.6 | 219 400
80 10.9 324 85.0 216 363
90 9.8 28.7 80.0 | 210 320
= 100 10.1 25.0 75.0 210 320
R[UFFIEE Tanor . % (3.0 times of Nominal Output Torque
Emergency Stop Torque N-m (*E’ikﬁtﬂ%%\mgm {thput(ToquIle Toso60% of Eme:'JggrL:cy Stglrj) orque)
Noming |nputr5‘|10“eed rpm | 12 | 3-100 | 3000 3000 3000 2500 2000
Eﬁ,ﬁi‘?ﬁ}ﬁ%@gga rpm | 12 | 3-100 | 6000 6000 6000 5000 4000
BREE S arcmin—L 3-10 - - - <4 <4
Ultraprecise Backlash Po 2 12-100 = = = <6 <6
EEEE arcmin 1 3-10 - - <6 <6 <6
Precise Backlash P: 2 12-100 - - <9 <8 <8
TRES R . 1 3-10 <12 <9 <9 <9 <9
Standard Bajcklash p, |arcminTs5 12-100 <15 <12 <12 <11 <11
HEEN .
Torsionam%idity Jakminl 1.2 | 3-100 1.0 28 7.5 15.5 30
CEVEEET P N | 12 | 3-100 | 350 960 1630 | 3380 | 6150
VG IEHE P N | 1.2 | 3-100 | 320 900 1420 | 2930 | 5510
fEFRE Operating Temp.[  °C 3-100 -10°C ~ +90°C
lEEEA Serwce Life hr 3-100 20,000(10,000/i%4Ei=45 Continuous operation)
| 3-10 294%
Effncuency ° 2 12-100 >90%
Wéih kg 1 3-10 1.0 [ 2.5 \ 6.5 [ 13.2 | 24.6
eight _ 2 12-100 13 [ 32 | 86 | 177 [ 297
Z&J3m Mounting Position| - 1.2 3-100 =7 E Any direction
@IEE{E Noise Level dBA/Im| 1.2 3-100 65 [ 67 \ 70 [ 70 [ 75
BEIFZEER Protection Class - 1.2 3-100 Ip65
S8 Lubrication - 1.2 3-100 £ & RERRAE Synthetic Lubricant
R LR E Inertia (J1)
%4 Stage JHIELY Ratio EA{S unit PSZ-42 PSZ-60 PSZ-90 PSZ-115 PSZ-142
1 3/4/5/7/9 0.06 0.40 2.28 6.87 24.2
6/8/10 0.05 0.30 1.45 476 14.5
¥ Stage THIELE Ratio kg.cm’ PSZ-42 PSZ-60 PSZ-90 PSZ-115 PSZ-142
) 15/20/25/35/45 0.06 0.40 2.28 6.87 24.2
others 0.05 0.30 145 476 14.5

@iHEEE100rpmAT , {ERF i OIE Applied to the output shaft center@100rpm. @3000rmp=as#;&EilIMeasured at 3000rpm with no load.

XAATERTA_E SRS TIRIT RS, The above figures/specifications are subject to change without prior notice.

FEREANFEERREERSEA RS | MEHREFCER.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net

“llIII mgg )

“llIII T

ech

www.aibotech.net INNEH



ech

PHA SERIES FEATURES

(wmﬁﬂﬁﬁ%ﬁj

ITERERR H MR —RRE . BRISEK
REMBAKREE , TNARSRAAERIMR LN
SRR REEES.

Planetary arm bracket and output shaft are
one-piece constructed, setting bearing apart for
larger span to reach the largest reverse rigid and
contribute high axis radial load capacity.

HOMFREARENELERE 0.2um. S5ilEE
ERRREERRFENEOBHRE . RiER
EEHMN  ERKERSD.

Grinding process Ra 0.2um to smooth surface of
output shaft, and with oil-seal to minimum friction
coefficient and reducing start up load; result in
the best seal-abilily and extended lifespan.

AR RARIERRH , AESRKREE
RHBANE , BEAAR=ERRIESTINT. B
EEREE , 5N MEESER. SHETH
RRRELE | WE , EN  HEaERKIR
EEHER,

RD use exclusively the latest high-tech materials.
The gear box and internal gear are one-piece
constructed,and then processed with Mitsubishi
Japan gear shaper machinary for high-precision,
high torque and abrade consumption. Advanced
electroless nickel surface treatment, scratch
resistance, corrosion resistance, are the most

suitable for strict requirements of the high-tech
equipment.

www.aibotech.net

WM RERASREEN , IFETBRRK
WEEREEE . FREXKEEENROEIE |
HESEBHAENT  LERERIENBE. &
it A =g i H .

Alloy steel gear with unique vacuum carburizing
and heat treatment for the best surface hardness
and inner core tenacity.Additionally, with gear
grinding processing to get the best accuracy
high wear resistance and high impact toughness.

PHARZIRFABFEN IR | IRFEHREHX
30%LALE | STRIRIRAIRTT , A BR(RAHEMES.
BIFEARDSASHFENRAA , KB HEDEEH.
BEERRITREWERINT , fiEHEEES
B, BHE. BTN, RESRKEGITE
IR

PHA series helical gear design, enhance
tooth engagement rate of 30% or more,
special helix design, which reduces the
axial thrust, allowing high speed servo
motor input, maximum torque output.
Precision gear design and professional
gear processing create a low backlash
operation, high efficiency, smooth
running, low noise and long life of the
planetary gear.

ITERREHFERABE R B HTIRER
1R, LRBIEREMERE/NIBEAE |, B8
SRR BN

Planet gear transmission interface equipped
with needle bearings, full needle roller bearings
aligned without retainer achieve maximum
exposure but smallest gap tolerances. Enhance
over-all gear structure rigid and output torque.

FREANRRSRRERNZSHAREIRA , FERESEER.

ech

RIS S1TEBRERBASERIRIT , #iR
B E O ERENRI TR,

The sun gear and the planet frame
structure design, ensure Stationary
concentric drive element and
transmission.

RASHFNERERFGERER , Bks
FHHERY . EEABEE , TEAK
HERIP6SHIFERNEHIRIT , FittE.
XABIRF.

High-tech oil seal design on the upper lip
guard against dust intruder, lower lip to
guard against oil leak. Protection grade
Ip65 safeguards fully avoid leaking
problem,and given it maintenance-free

BANRSDEANDEEESERARER

A, PEREINFEDT , BREE

ETAEeRENROERTBENEE.
Input-end and motor shaft are combined through
a dynamic balanced collar clamping to ensure
connection interface concentricity and zero slip
power transmission at high speed.

SEHDREERIZLT , BEWE , &%
B5  ISBMEMZER. SHIX
ECE ST

Advanced motor connecting plate design are
combined with the shaft sleeve, installation
Easily, with various brands of servo or
stepper motor .

Products due to human error. natural disasters or other factors lead to poor or damaged,will not be covered under warranty.

www.aibotech.net IIER



oD (He)

L] (c)

| B
~| oK M
3; % (-
, 1] R
| <L)‘ _ _LE
.
RPN
oPHARITCHHBEURIEN R T 3=
( Dimensional Table For PHA Concentric Shaft Reducer) B{z(Unit):mm
Dim{?:fsions PHAO052 PHAO078 PHA098 PHA125
LR1 32| 50 61 75
o(D1) 12 19 24 32
Q 20 30 40 55 |
@ qm 18 26 35 52 |
EH; QK 16 23 30 45 |
u 135 215 27 35 |
w 4 6 10 |
T 4 6 8 |
o(C1) 52 78 98 125 |
2B 50 70 90 110 \
w| LEL 3 3 5 5
| a(LAD) 60 90 115 135 |
= 1 MS5.0 M6.0 M8.0 M10.0 |
X1 12 20 20 20 |
o(C) |38 40 40|60 |38|40|60|60 80 80 38 40 60| 60|80 |80|90 (100 60|60 80 |80 90 100‘100 120130130
@(LB) | 30/30|30|50(30|30|50|50 70|70 30 30 50|50|70|70|80|95|50|50|70|70 80|95 95110110110
@(LA) | 45 46 |46 |70 |45 |46 (70|70 90|90 | 45|46 70|70|90 |90 (100|115 70 |70 |90 | 90 (100! 115‘115 130145(145
] D) | 8/6 |8 (148 |6|11{14/16|19/ 8| 8 11 /14|16|19|19|19|11|14|16(19 19|19 24|22 24|28
ﬁ)% LZ | M3O/MAO/MS0|[M3.0/M4.0/M5.0/M6.0| M3.0/M4.0/M5.0/M6.0/M8.0 M4.0/M5.0/M6.0/M80 |
X 10-15 10-15 15-20 15-20 |
LR 3.5 4.0 4.0 6.0 |
LE 25 325 40 56 \
2K(1) | 100-110 140-150 158-177 210-235 |

FREANRESRRERRSEARTGIN , MEHREFCEA.

Products due to human error, natarai disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net

o PHARENEBEIEILEER (Specifications Table)

ech

& Specifications ;?:fge ;{REZ%(EE PHAO052 PHAOQ078 PHA098 PHA125
3 343 6.86 18.30 44.10 ‘
1 5 2.84 11.50 23.50 56.80
9 2.35 9.70 18.20 73.50 ‘
15 4.02 16.20 30.40 91.40
e AT
ﬁ;ﬁﬁ%ﬁﬁ thTo que | Nm 20 5.00 21.10 40.60 78.40 ‘
25 6.27 26.40 50.70 65.40
2
35 3.84 15.50 37.00 71.00 ‘
45 - 9.50 28.30 91.30
81 - 9.70 17.80 43.30
E2=1EHEE Tavor N-m 3.0fZEEmHHHAE ( 3.0times of Nominal Output Torque)
Emergency Stop Torque CxBRAHHAEMax.Output Torque T2B=60% of Emergency Stop Torque)
Nﬁﬁ;ﬂfi’f ?plg' og | PM | 12 | 3-100 3000 3000 3000 3000
B AR 1= Nimax
Hﬁ,\ﬁ%’{;ﬁ’t‘sp et rpm 1.2 3-100 5000 5000 5000 5000
FE ] . 1 3-10 = =3 =3 =2 |
UItrapreDciﬁse Backlash P, | arcmin 2 12-100 = =5 =5 =4 ‘
B . 1 3-10 = =6 =6 =5
PrecisE Backlash P: el 2 12-100 = =8 =8 =7
RS e aremin 1 3-10 =12 =9 =9 =7 |
Standard Backlash P2 2 12-100 =15 =12 =12 =9
HREERITE N-m
Torsional Rigidity /arcmin 12 3-100 10 28 75 155
M/ =4
33@3@@23 N 12 3-100 882 1670 2060 3530
%‘jﬁ*ﬂ?ﬁid N 12 | 3-100 441 833 1030 1765
N=|
Opef’ffﬁ‘\lgrfemp °C 1,2 3-100 -10°C ~ +90°C
Sf\f&fﬁfe Hr | 12 | 3-100 | 20,000 (10,000/E48E4 Continuous Operation)
LTI ES % 1 3-10 >97%
Efficiency : 2 12-100 >94%
Bl
mourﬁfgjir(?sition ) 1 3-100 {E&7518 Any Direction
@I2E{E Noise Level dBA/1m 1,2 3-100 58 60 62 65
PR Protection Grade| - 1,2 3-100 Ip65
S8 H Lubricant - 1,2 3-100 EREBTHAS Synthetic Lubricant

OEHEEL00rpmAT , fERTitHihFOMIE Applied to the output shaft center@100rpm. @3000rmpzs#;&illMeasured at 3000rpm with no load.

XANTERIA_ SRS H TR E RS, The above figures/specifications are subject to change without prior notice.

FREANRESRRERRSEARIGIN , MEHREFCEA.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net



ech

® PHA'TE?E%?&%%*%;E-I PHA performance specifications in table -1

EUERINEEE/93,000rpmet
N —_ e HiHE EHimELER | BRERKEIHEAE | SNGhiRE
'EEEI:!:’ Rateﬁmgﬁr/ar;n&eters Rated Output Output Moment PIEBIEMES AR
Reduction Torque Shaft Maximum Internal
ratio Speed Output Torque | Inertia Torque
mSModel | [EUMEIHINE (N-m) (rpm) (N-m) (x10* Kg-m2)
50W 0.26 0.78 0.0575
100W 0.72 2.06 0.0575
Sl 200W 1.47 451 0.1350
400W 3.43 10.30 0.1450
PHAO78 750W 6.37 19.30 0.9130
1000W 7.55 22.80 2.4300
PHA098 1500W 12.30 37.10 2.4300
1/3 2000W 17.20 1000.0 51.50 2.4300
2500W 19.00 57.20 5.5500
3000W 23.70 71.20 5.5000
3500W 2830 85.20 5.5000
PHA125 2000W 33.10 99.00 5.7800
4500W 37.70 113.00 5.7800
5000W 42.90 128.00 5.7800
50W 0.51 147 0.0400
PHAO052 100W 118 372 0.0400
200W 2.65 8.04 0.1180
400W 5.39 16.20 0.3630
PHAQ78 750W 10.70 32.10 0.7130
1000W 13.40 40.50 1.8500
B2 LAl 1500W 21.50 ey 64.40 1.8500
2000W 23.80 71.50 3.5000
2500W 31.80 95.50 3.5000
PHA125 3000W 39.60 119.00 3.4800
3500W 47.20 141.00 3.4800
4000W 55.30 166.00 3.7500
50W 0.92 2.74 0.0350
Akt 100W 2.25 6.86 0.0350
200W 372 11.30 0.2750
PHA078 400W 951 28.50 0.2750
PHA098 750W 18.20 54.70 0.6500
179 1000W 20.00 3330 60.10 2.8090
1500W 34.30 103.00 2.8090
PHA125 2000W 48.60 146.00 2.8090
2500W 60.80 182.00 2.8090
3000W 73.00 219.00 2.7670
50W 167 5.00 0.0350
AL 100W 3.72 14.40 0.0350
200W 6.27 18.80 0.3000
S PHAO78 200W 15.80 2000 47.50 0.3000
PHA098 750W 30.40 : 91.20 0.7000
1000W 33.30 100.00 1.9500
PHA125 1500W 57.20 172.00 2.8000
2000W 81.00 243.00 2.8000
50W Pl 6.63 0.0340
ez 100W 5.00 15.00 0.0340
1/20 PHAOTS 200W 8.69 150.0 26.10 0.2940
400W 21.10 63.30 0.2940
PHA098 750W 40.60 122.00 0.6900
S0W 2.74 8.33 0.0325
PHA052 100W 6.27 19.00 0.0325
200W 11.10 33.30 0.2880
1S PHAO78 200W 26.40 LA 79.20 0.2880
PHA098 750W 50.70 152.00 0.6800
PHA125 1000W 55.70 167.00 1.8800
PHA052 S0W 3.84 11.50 0.0300
100W 7.24 21.70 0.0600
1/35 PHAQ78 200W 15.50 85.0 46.60 0.2620
PHA098 400W 37.00 111.00 0.2690
PHA125 750W 71.00 213.00 0.4730
50W 3.86 11.60 0.0285
PHAG78 100W 9.31 28.00 0.0285
1/45 PHA098 200W 21.10 66.0 63.50 0.0256
400W 47.50 142.50 0.2450
PHA125 750W 91.30 57400 1.7740
PHAO78 50W 7.02 50.80 0.0270
1/81 PHA098 100W 14.00 37.0 2200 0.0300
PHA125 200W 36.10 108.30 0.2400

FREANFRESRRERRSEARTGIA , MEHREFCEA.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net

ech

® PHA'TE@E%’;‘:&%'}E*%;E-Z PHA performance specifications in table -2

BB\ &1 /92,000rpmAst
— s WERHIEE | T | BRI | S
Reduction Rated Parameters Rated Output Shaft Moment Maximum oAl
ratio Torque Speed Output Torque | 1nertia Torque
= BB HINER . . " Kg-m?
A= Model Mot rar (N-m) (rpm) (N-m) (x10" Kg-m2)
50W 0477 143 0.0575
PHAO52 100W 1.050 315 0.1350
200W 2.480 7.45 0.1450
PHAO78 200W 5.010 15.00 0.9130
750W. 8.730 26.20 2.4300
PHA098 1000W 12.300 37.10 2.4300
1500W 18.300 54.90 2.4300
1/3 2000W 23.700 666.0 71.20 5.5000
2500W 30.800 92.50 5.5000
HRALE 3000W 37.700 113.00 5.5000
3500W 24.100 132.00 5.7800
50W 0.795 2.39 0.0400
PRS2 100W 1570 4.70 0.1180
200W 3.820 11.50 0.3630
PHAQ78 400W 8.350 25.10 0.7130
750W. 15.500 46.50 1.8500
v PHA098 1000W 21.500 400.0 64.40 1.8500
1500W 27.800 : 83.50 3.5000
PHA125 2000W 39.600 119.00 3.4800
2500W 51.400 154.00 3.7500
PHAO52 50W 1570 472 0.0350
100W 2.350 7.04 0.2750
PHA078 200W 6.640 19.90 0.2750
PHAO098 200W 14.000 41.90 0.6500
750W. 23.600 70.90 2.8100
/9 PHALZS 1000W 34.300 222.0 103.00 2.8100
1500W 53.700 161.00 2.8100
2000W 73.000 219.00 2.7700
PHAO52 50W 2.620 7.87 0.0350
100W 3.910 11.70 0.3000
PHAO78 200W 11.100 33.20 0.3000
PHAO098 200W 23.300 69.80 0.7000
A 750W. 39.400 el 118.00 2.8000
PHA125 1000W 57.200 172.00 2.8000
1500W 91.300 274.00 2.8000
PHA052 50W 3.500 10.50 0.0340
PHAOTS 100W 5.730 17.20 0.2940
1/20 200W 14.800 100.0 44.40 0.2940
PHAO098 400W 31.000 93.10 0.6900
PHAO52 50W 4370 13.10 0.3250
100W 7.160 21.50 0.2880
e et 200W 18.500 £0.0 55.40 0.2880
PHAO098 200W 38.800 : 116.00 0.6800
PHA125 750W 65.400 196.00 1.8800
50W 4.430 13.30 0.2620
PHAOC78 100W 12.700 38.10 0.2620
1/35 PHA098 200W 22.000 57.0 66.00 0.2690
PHAO78 50W 5.800 17.40 0.0285
PHA09S 100W 14.000 4210 0.0285
1/45 200W 28.300 444 85.20 0.0285
PHAO78 50W 9.700 29.20 0.0270
1/81 PHA098 100W 17.800 246 53.50 0.0300

FREANFESRREERSEARTGIR , MEREFEEA.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.

www.aibotech.net



ech /. ech
R R R
HeEx/E. HERAR EITEES

B3R, ATM3E

www.aibotech.net www.aibotech.net [INEA



AR ech

R R-3TRTY ]

®

ech

AR B-22 75 ]

94 L
#220 2 215 L
\
IHRXDA depth dmn - 4 ‘ : 3-MIX0S depth 3mm 931.0 69
PCD %18 . A ] PLD 929 ¢ @ il

o ! —

* Motor :

(

Motor -
E \

- [
& ‘“‘ ‘ 2100 ‘
T 1

www.aibotech.net INEZA

www.aibotech.net



®

ech

JEHRER-42 2T

\

20.5

www.aibotech.net

3-M4x%x0.7

S ——

26.0
—_—
5.0/

3-120°

5 7 i[5 3
Depth3mm 320 .

f;*d(ud_ln#

120°

“

Ny,
N7 f
2230
L PE20 T
3 $37.5

ik [a]

ffecr”

EIRIENEEE X 58

ZRUERN
BRER

BAN7 : 3% (arcmin)
larcmin = 1/60=0.01667°

B - UEEER , REREVEHMSBARNEARERS. WESRANIREE B HisRE SR 75 B £ 5
78 £ 2 %A e R, BRI AN RSE — MBI AR ERERER (BER ) . BAR"MS (arcmin) ',
B2, BAR/AHRENRE ~ |, EHEE .

BN BAR/AHIRENRE  , EHEE 7.

ERENNE RIS

S
Ring Gear

Xﬂﬁﬁ’ib/)\jjilﬂ
Sun Gear
1ITEBZE/HMH The input shaft

Planetary Carrier

Dk R B
Motor Shaft
fastening ring

Bk E#ER
(Motor)Adapter

TERR
Planetary Gaer

www.aibotech.net IHNES



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30

